Mathematics (Science Group) Paper: II A, 11 &;&J;;L.ﬁ? (1%A 224 . 1V)

Time: 20 Minutes
Marks: 15
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1. 1- Apair of chords of a circle subtending two congruent
central angles are

congruent J(¥ (D) incongruent |J! 2 (©)
2- If 3x+1:6+4x=2:5 then x =

2(D)

1(C)
3- Two tangents drawn to a cirgle from a ppint outside
il are of in length,
triple L (D) edual 4 (C)
4- 20°=__
1200 () 800" (C)
5-1f 3~2a,b-1)=(a-7, Zb+5) then a &nd b are
10
3 =6 (D) ~t526 (C)

& Two linear factors of x? —15x + 56=0a
(x+7),(x+8) (D)

7. Mean is affected by change in
value =4 (D)

(x=T7),(x\-8) ()

scale u’n;g ©)
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QEQLU!JJJ:JQ.J'JJ,&JVU 14

Lun___ LR

overlapping /1> (8) parallel (§317 (A)

x=__ ¥ 3x+1:6+4x=2:5 1 2
-1(B) 0 (A)
quv:-i guc..;i G:,C: Lol 3
Six ol
double /s (B) half &7 (A)
< x'.cd)’:' 20 _4
630" (B) 360" (A)
ufszbasiad 3-2a,b-)=(a~7,2b4+5) S _5
]31-6 (B) E 6 (A)
o '}ad..u-.fu& xz——le+56—:ﬂ i -6
(x+T7), [} (x=7),(x+8) (A)
—Quw /l;d..fd'y Y 1 E
réte S (B) place . (A)

8- Line segment joining any point of the circle to he mned b F L L nwd TL o g
FECL o

achord A.{i (D) diameter

9- The number of elements in the power seld{ﬁ“}

4 (D) 6 iC
10- The solution set of 3y? = y Q’Iyy)
-3} &

(O

%;2;“’

radius (/1 (B) anarc i1 (A)

< {:.l:‘l‘ 2 JUKA" o Ll L {1,2,3) -8

g (B) 8 (A)

2 f¥ 3y! =y(y-5) -10

5
{0} IC {U "—l (B) {0 ' ‘2‘} (A)
11-if a:b=X:Y then invertendo property s cedfTab=xy A1
a a+b x+y y a b
D = G —== (B —_———
abxy” F“ KH xyw
12- The length of the diameter of a circle is how many times Ll e QUL i i 12
the radius of the circle? e dn &
1(D) 4(C) 3(B) 2(A)
13- The nature of roots of equation ax? +bx + ¢ =0 Fo AL ax? +bx+c=0 ehis -13
is determined by et
product of roots . # M Vqﬂ: (B) sum of roots  «s% fu’u (A)
discriminant w3 (D) synthetic division (&7 (C)
14- _ x-2 x—2 -14
(x-Dx+l) ~—— T (x=1(x+1)
x=1 x+l x=1 x+1 x-1 x+| x--l X+2

151t &, B are the roots of px? +px+q=0 then
1o

.-+—-
a B —

4 0)
P
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Time: 2:10 Hours roup: I o’ 2:10 ..::J
H G IL" 2 10 @2t

Marks: 60 ~ Subjective dwi C// /-—_‘2,7 60 : A

Note: Section I is compulsory. Attempt any THREE/(3) questions  (3) UE:.. ('u_-ﬁ .4.UJ£F|JJI.A- O

from Section II. However question No. NINE (9) is compulsory -4 Jau(e) .l‘/)dlrr"t'...élf
Section1 (Jilo
2- Write short answers to any SIX questions: (2x6=12) -é‘;f:.-uzf'"éawr{s} éc..:lr( 2
i- Define quadratic equation. ) gf.,yﬁlf =l G i
= > — A1 =
ii- Find the value of x, §'**=5'"* =0 5l*x _ g% g gfr}#,;} Sx -
iii- Solve x*+2x-2=0 x242x-2=0 & Jf i
=0 & "
iv- Find discriminant x*-23x+120=0 x2-23x+120=0 Egr}*’ G} v
v- Evaluate o™ +a™" oo ES
vi- Write the quadratic equation having roots 1, 5. & Gone 1 ﬁu’l’u -vi
vii- Define third pmpoﬂiuﬁal. \ Z:‘ZE.'J;TJ..;&I/: vii
vil- Find the value of P if the ratios 2P+5: 3P+4 -Un 414314 5 2P+5 : 3P4 A& pddp i
and 3 : 4 are equal. \ \mj )
. 1
: 1 _ . E :
X If)’“fxandy—4whanx-3,f|ndvalueof!(. é{}’{#JKﬁnx Jomy= 4;:iy¢—f -IX
f\“\)
3 Write short answers to any SIX questions: _ x’fé;:z'i 2] -é'/faglﬂ/yﬁ.:flﬂrlﬁ}l .:'::.J:( -3
AN~ .
i- What is meant by resultant fraction. N {n”ﬁal i \r2pd’ Ve /Lﬂ’ =1
. 6x + 5x% =60\ O\ 6x°> +5%% -6
i- Convert into proper fraction -—-—'r“*‘-'"\"\f 3 - 1 b i
x{ -{1\*1\’) \ o JJMU,/-)J i
" \ p) \
iii- If A and B are two sets, then mgnesent B-A - J‘v'-f-fﬂ?f B-A JusernBa A i
in set builder notation. \'\,.
iv-1f Y=2%,T=0% thenfind TNY \ b TAY JT=0",Y =T P

v- Findaandbif (3-2a,b-1)=(a-7,2b+5) (3-2a,b-1)=(a-7,2b+5) N oma v

vi- If Y = {-2, 1,2}, then make a binary relation for vy x Y \ bt g & v iv=(2, 1.2 i
g Sl g i

viii- Find range for the weights of students eper ol P i
110, 1089, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62 110, 109\ 84, 89, 77, 104, 74, 97, 49, 59, 103, 62
4 x 12| 5|8 |4 p b LTF ix

-ﬁgfa@lﬁ/ﬂﬁwﬂiﬂﬁ) &
Edenhiyb -2*35 =

tan 0+ SecO = Sech Cosec® &= =¥ -ii

vii- Define Geometric mean.

ix- Find harmonic mean | X 12151 8

4- Write short answers to any SIX questions: (2x6=12)
. 2n
i- Convert —3* radian into degree.

i. Prove that tan 0+ SecB = SecB Cosec®
I
f=dcm, B=Eradian G pee il

_afg J/;Jd)’i «iv

|
iii- Find '’ when £=4cm , 8= 7 radian

iv- Define degree.



. te Ve L fis
6%‘"”’"‘% fesp Ve B i
E Sy i

viii- Define vertices. S i

ix- The perimeter of a reguler pentagone is 25¢cm. Find JI,J J(J;’_{i,ﬁ e (725 Jb! y‘u‘-‘?{;‘_ﬁ i
-érﬁ"

v- What is meant by projection of a point?
vi- What is meant by secant line?

vii- Define circum angle.

length of its side.

(A aLozpnt A8 L) Sectionll pn o
Note: Attempt any THREE (38) questions _éwe.rﬂlr (3) L‘»fﬁ- Jf ‘59

However question No. NINE (9) is compulsory pr d(9) ;/'-}d‘?'ﬂt'
4254 _92* 4120 2 Sl () 5

7x%-3y? =4 L I ui-in ()

5. (8) Solve the equation 4,23 _92% 41=0

(b) Solve the simultaneous equations 7x% -3y’ =4

2x? +5y2 =7 2x2+5y2=?
. "/! f
6- (2) Solve by using theorem of componendo-dividendo %‘ﬁ ./ Je ..m’&“’ ) JxJ—-' (Jh) -6
s =
\.=x“+2+\nx‘-3:_] “\ J;("I-f;'l‘"‘.l')'i'—z_z
2 2 B Ve -
Ux?+2-4x1-2 "f:“;j Vx2+2-x2-2
Ix+7 AN Ix+7
(0) Reso! ' i Ly s o —_—_
) Resolve into partial fractions (x +l}{x+3} (»-\ (x? +1)(x+3) c‘_{'d"/;f Ui ez (<)
'.’““ O\
7- (a) IFU=(1, 2, 3, ... 10}, A={2, 4, 6, 8, 10}@&}) U=(1,2, 3, ... 10}, A={2, 4, 6, 8, 10), /i (L#) _7
B={1,2.3,4, 5,6} then shawtha@‘f\ =(AUB) - A'NB'=(AUB) &L =k 7 B=(1,2, 3, 4, 5,6)
(b) Find standard deviation 9, 3, 8 898,918 93,88928,9 18 gfr)-”_jlf! Urke (&)
oo =l o ]
8- (a) If SinB = -—E and terminal side of the angle is notin ~ 7sr2 2 &, &7 1l JU51§ O )9 Sind :7—2‘ S -8
quadrant IV, find the values of tan 8, cot 6,sec ,gr}";ﬁ J cosecB i tan®,cot 6,secH
and cosech \ )
(b) Circumscribe a circle about AABC with sides s BC,AB{ s £ VIB et e ¥ AABC (L)
| AB}= 5¢m,| BC|= 3em,| CA |=3em W 335 A Ul S CA
g- Prove that a straight line, drawn from the centre of a LSS (w2 B2 J':-_. Vo eyl w8
cricle to bisect a chord (which is not a diameter) is ' o bt s 3 .' S
perpendicular to the chord. R it
OR !
Prove that any two angles in the same segment of a Az 7y i ,5;, ’/'J.JJ"J-.-(J’L..J'ch._ b
cirice are equal. S

111-1%'A 224-83000
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Mathematics (Science Group) Paper: II (i« I wul & (26 (1%A 224 -1V) 11 2 (A0
Time: 20 Minutes Group: I Code: 7198 Tjj 1 L4 20 =Dy
Marks: 15 Oblective ;ﬁﬁ é[j /:-- 2 rﬂ-Q_,;’ 16: ‘/Sl,

o 380 Q0 Lol s & 22 sFis Ll Ly ¢ YHQR - BELLsDHC B Achiz Fip Ldirp : 2f
-ﬁt.u»jj.li.,alﬁuflu:wuru.éfél’ku.afuﬁbuyc.-_ﬁ L A

1= 1- The measure of the external angle of a regular hexagon is & Jﬂ S sz:..-l; [!u,;c & Jﬂf".{f -1 1

/6 (D) n/4 (C) n/3 (B) /2 (A)

2- If o, are the roots of 7x% —=x+4=0 then Jun ujmf. 7x2-x+4=0 bl &,B J .2
ap is 4l gf
-4/7 (D) /7 (©) 4/7 (B) =17 A

3- The length of a chord and the radial segment of a cricle are

-t 4le Yt Sl 5 b 2 L -3

congruent, the central angle made by the chord will be K i) S s Eeoh
90° (D) 60° (C) 45° (B) 30° (A)

4-1fa : b = x : y, then alternando property is eedfiina:b=x:y A4
a/b=x/y (D) a/x=b/y (C) a+b=c+d (8) a-b=c—d (A)

5- A line which has only one point in common with a circle o IVARE Y (PP SPES Y 15 B S
is called of the circle. e b Ke o
secant - (D) sine - (C) cosine tangent - (A)

6- The fourth proportionalwof x : y :: v ; w is CJ Wb L x:ynv:w -6
vy/x () xyjv© i;{:{fﬁ xyv (B) x/y (A)

7- Radii of a circle are , r-’i\ N S L g 7
allequal eV [Bf:\\}\}i/ all unequal 4zt U7 (A)

greater than diameter <% < S0
N e

AN
8 (x+3)? =x"+6x+9 is o L hoa

a linear equatipr:\lﬁghﬁil;&.u.{ (B)

inequality.  =bie? (D)

- If 0<0 < n/2 and Sin6-Cosech=0,
then =__

90° (D) 30° (C)

10- o?

o™ (D) o2 (C

11- The spread or scatterness of observations in a data set is calied

median k- (D) mode  wk/C)
12- Solution set of (X —4)(3x+3) =0 wiil be
4,-3 ©) {-5
13- The range of R={(1,3),(2,2),(3,1).(4,4)} Is

{1,2,3} (D) {1,3,4} (C)

14- An equation of the form 3* +3** +6=0 is a/an
radical equation  =bl~(f.& (B)
linear equation =i+ Ful (D)

(€)

L]

15-If BC A,then B—A =
¢ (D) {6} ©©

112-(IV)-1%tA 224-75000

equal to diameter iz £ 5 (C)

IS o (x+3)? =x*+6x+9 -8
an identity =L\ (A)
polynomial g}y:f {©)

¥ Sin®—CosecO=0 . 050<n/2 Ji 9

& 40

60° (B) 80° (A)
@ = -10

o™ (B) ® (A)

& t'U{fU;‘{ Kls uﬁ;b’U/ -1

mean k! (B) dispersion 31 (A)

€ o f I (x=4)(3x+5)=0 A 12
%.—4 (8) {t4} &

¢ Ut Range 'R' 7 R={(1,3),(2,2),(3,1),(4,4)} /1 -13
{1,2.3.4) (B) 2,3.4} (A)

Lo A8 34375 46=0 bl 14
exponential equation =l JI.L—.-} {A)

reciprocal equation  =hl- JF" (C)
B-A= Jn Bc A Ji-15
A (B) B (A)

&



Mathematics (Science Group) Paper: II ﬂ:wf « 11 #J#dﬁd.!}v’é (1%%A 224) I 24

Time: 2:10 Hours
Marks: 60

Group: II
Subjective
Note: Section I is compulsory. Attempt any THREE (8) questions
from Section Ik. However question No. NINE (9) is compulsory

(/)

oy & 2:10: 5
dei (\cy ~)~2Y 60 : A

(3) L & e £ fn o e GiJil e ad

e ) I Ay frZE ey

Section I jJifQ

2- Write short answers to any SIX questions. (2x6=12)

i- Solve the equation x? —3x—4 =0 by factorization.
x+3 x-5

2Tt e

ii- Write in the standard form
+4 X

ii- Define exponential equation.
iv- Find discriminant x> +6x—1=0

v- Evaluate (1—-o-+ o’ )

vi- Form a quadratic equation with roots 2,-6.
vii- Define inverse variation.

viii- Find a mean proportional to 48 and 16.

) 1
ix- |f ym; and y =4 when x =3. FindK.

3 Write short answers to any SIX questions. (2x6 =a;@j ezl ®) &l -3
i- Define Partial Fraction. r:}'J S e [
i If (x-?:;gc3+2)=xﬂ:l+x?2 ‘“e“f*“df_ﬁ’e'Q*% of wEfBaAi 3?};{12)_;:;%?2 i Al
A and B. ; Ry LA
ii- X ={1,4.7,9},Y=1{2 4,5 gpadfind XY W XUY IX={1.4.7.9),Y={24,509/ _ii
and XY - Q I XY

iv- Findaand b, if (a-4,b=2)=(2,1)
v- Find the sets X and Y, if
XxY ={(a,a), (b,a),(c,a),(d,a)}
vi- If L={a, b, c} and M={3, 4} then find two binary
relation in LxM .
vii- Write De Morgan's Laws.
viii- Find Arithmetic mean 10, 14, 17, 20, 24, 29, 35, 47

ix- Define Median.

4- Write short answers to any SIX questions. (2x6=12)

i- Define radian measure of an angle.
ii- Express 300° into radian.

iii- Find © when ¢=4.5m , r=250cm.
tanx
secx

iv- Simplify

(Zi3m

S Felz Pl ere) & e 2

ST xP-3x-4=0 =l

X+3

x+4 K;S =1 &g Py S e
2 e fhed

x246x-1=0 &5}
(1-o+e?)t & ped

U 2,-6 (Roois);ﬁ; LU bzl G 0
AN

A\ & o B s K16 4149

A )

_gf,wfﬁ

1
x=3 ay_4»15f°€;)7

(a-4,b-2)=(2,1) SigZ>bsia
ﬁ:’_"_{'lr.’b’\l".ulxn-'-—f'
XxY ={(a,a),(b,a), (c,a),(d,a)}

A LxM 7 M=(3, 4} »» L={a, b, c})”
_é" Wy dlf 13

_.E'fulfi.!’é:- c/jL 3
10, 14, 17, 20, 24, 29, 35, 47 Z (bt YL
-y L ST

i}
i
i
-iv
)
Vi
_Vii
~Viii

~ix

-iv

=V

Vi

il

~viii

~iX

..Z.E.';;:.-Uﬁ/ﬂﬁcdﬂr[ﬁj Vil :—Jf -4

Z Pk )
2L fek gt 300°
o £=45m , r=250cm &z 0

secx

il



\

v- Define right angle. & u'/ R B P
vi- Define tangent fo a circle. LSl e i
vii- Define cifcum angle. _£4EJ,:EJ A _vii

viil- Define escribed circle. g i
ix- Write down the formula for finding the angle subtended by ¥i ./, r:l’*‘,._u!.i a2y ki L cwr,_%‘“ -n -ix

the side of a n-sided polygon at the centre of the circle. -Z-f.-’-: r:“":f

(u_’!'/:‘.' 4 L7 ¥l /.) 8 L %) Section II (2 D

Note: Attempt any THREE (3) questions. However -¢ Uy (9) )/?dlr(fbé‘,}'@mr (3) rfr; Jf by
question No. NINE (9) is compulsory.
4x+1 4x -1 I 4x+1 4x —1 |
5. & + = 2_ 2_ P — B —5
(a) Solve the equation PR [ T A o 4x+l g & Febls (i)
(b) Prove that X 4y +2° —3xyz= (x+y+z}(x+my+m z)(x +fcq y+mz) ’.é.:-,,& (o)
(_/)\ 2
6- (a) Find a fourth proportional to K z r:'-”'.,,r-i;* 2 (L) -6
"_ "«
p’+q’,p?-q*,p’ -pg+q’ r};«%\\; p’+q’,p*—q®,p’ —pa+q’°
Ox -7 I, 9x -7
- ; : T A
b M i 5, - n- -
(b) Resolve into partial fractions (x +3)(x +1) ..-%EVM (x+3)(x2 +1) ,é..}"’:)tu’/dﬂf (i)
D
7- (a) 1 U=(123, .., 10}, A={1,3, 5,7, 9} and {\ QNS A U={1,23,..., 10}, A={1, 3,5, 7. 9} J (L) _7
B={2, 3, 5, 7} then verify (AN B) = A*d (ANBY=A"UB' é.:f.& Jn B={2, 3, 5, 7}
(b) The marks of six students in Ma@?}natlcs are as Ut s s Al e S S L " g (&)
follows. Determine Variance e P
Students| 1 [ 2 [ 3 | 4 | 5 | & A
Makrs | 60 | 70 | 30 | 90 | 80| 42 i
4 ATy 4 :
8- (a) If tan0 = 3 and cos0 <0 find the value of $f6 BpF 3y 9x cosB <0 Ly tanf = 3 S -8
remaining trigonometric functions at @ . L a2 70
(b) Circumscribe a circle with regard to a right triangle (543U S £ s a5 L ()
with sides 3cm, 4cm and Scm. “ebo b LYK Ut

9- Prove that if two chords of a circle are congruent, then  Jolihle e Zpas Just fl Sy £ e b A S 25 o 9

they will be equidistant from the centre. Loun
OR L

Prove that any two angles in the same segment of L (i Jn 81, ot b (6 L 2 aq.,ufﬁ o b

a circle are equal. ff L

112-15%A 224-75000



Mathematics (Science Group) Paper: II (ﬂ.ﬂ.ﬂf «II h‘u&d}"du'?é) 1%tA 223 II 3¢ (..r;/u"i,) o \

Time: 2:10 Hours Group: I ch:— /—23 -,d;ll;;' & 210 23,
Marks: 60 Subjective (i 60: /0t
Note: Section I is compulsory, Attempt any THREE (3) questions  (3) gf:_. J:(:... Uﬁp:.h -1 Jile ad
from Section II. However question No. NINE (9) is compulsory - Uy (9) J’/f’d"’ﬁt‘-id'
SectionI ¢Jil.5
2- Write short apswers to any SIX questions: (2x8=12) -ﬁ ;fauz/".ﬁ.:,ﬂlr(sj &l 2
i- Solve by factorization. x2—x- 20 =0 x2-x-20=0 -Z5JSU6F 20 -i
ii- Solve the equation using quadratic formula 8 e Ji £ i G fabils i
2-x% =7x 2-x% =7x
iii- Write the names of methods to solve a quadratic equation AL YRIL LTSS b G i
iv- Without solving, find the sum and product of the roots wr’Flo s o € (Roots) U AL Ffabl _iv
of the equation. x> +4%x-9=0 x2+4x-9=0 -ff—"f'_[‘""
v- Write the quadratic equation having roots 4, 9 Jit 8,9 LA e biablafa v
vi- Use synthetic division to find the quotient and the reminder, _£ r'.-"" dJ. _ul ..x"d‘" binl /S, Jwi s r"" ,_f(, =Vi
when (x +7x=-1)+(x+1) \ J* (x +7x-1)+(x+1) <=
vii- Find fourth proportional to 5, 8, 15 ” \"\&-"' 58,15 25 o B0 _vii
viii- If v o R and v=5 when R=3, find Rwhen v=625 A VBFE W RIxR=3av=5u vae R} S i
f;\\’il’_’ -3 v=625
ix- If the ratios 3x+1:6+4x and 2:5 are equat Fmﬁ’the = u(x:'u;qu 5. 3x+1:6+4x g"‘"’f -ix
value of x ““ﬂ,‘:‘;(\/ : e
3 Write short answers to any SIX quoaqons (2x 6 =12) Efen Pl 6) &l -3
i- Define proper fraction. Q¥ ZEwAS S i
ii- Convert into proper fraction #ﬂf_‘_‘_ w Edes S i
%7 - X ] X —x+1
iii- If X={1,4,7,9}, Y={2,4,5,9)} then find YU X _a{r,’-"' YU X 9 X={1,4,7,9}, Y={2,4,5,9} .fl —iii
iv- If A={0,2,4} , B={-1,3} then find Bx A _z ¢ Bx A A={0,2,4},B={-1,3} /I _iv
V- Findaand bif (2a+5, 3) =(7, b-4) (2a+5,3) =(7, b-4) Szl ol bsta v
vi- Define a function. | _?fq.ﬂ/‘?d/(uiﬁ) S i
vii- For the given data, find the Harmonic Mean 12,5,8,4 12,5,8,4 ép‘"‘bﬁ h,ﬂ-f(?hi#’:iy*é s Vi
viii- Define a frequency distribution. J—f i /"" d’ f‘j Goa il
ix- Define Mode. EE ek i
4- Write short answers to any SIX questions: (2x6=12) _ﬁgfuuf/ﬁﬁuﬂktsl & :41)’ -4
i Define an angle. =) L 97
ii- Convert ‘SEE into degrees ek ihS % il
iii- Find'0"'when £=2¢cm, r=3.5cm ar=35cmul £=2cm £ &5 07 i
Sinf+ Cosb Sinf+ Cosf

iv- Prove that ———————=1+Tan6 —————— =1+Tan® zf b -iv
Cosf AT Cosb = =



? v
"v- Define acute angle. G7 ‘-y .-—-f"'l-:ﬁ _’q{ ...Q}JJ,JI} we -V

th
[

vi- Define secant line.
vii- Define chord of the circle.
viii- Define a regular polygon.
ix- Draw a circle of radius 5cm passing through points

A and B, 6¢cm apart.

Al r i

Lo i

S Lwn 2 i

Ut (750 6 e B st A BB L o Qs 76 -ix

B LK
r

(uj’/.) 4 f.s?.‘,f 2l /:) 8 ZJlv ) SectionIl \&,3
Note: Attempt any THREE (3) questions.

However question No. NINE (9) is compulsory
x—a X+a 7

—— S —

(a) Solve the equation =
x+a x—a 12

(o) Find p. if the sum of the square of the roots of the
equation ax*+ I px+ pz =0 is unity.

(a) Using theorem of compoﬁendo-d’widendo, find

..ﬁd'.:emr (3) (_f.:.. 119( s
o U (@) I AU i
7

Ay A R () S
x+a x-a 12

e 4xz+3px+p —0 e Az el dp (L)
Py .,Cu,f ¥ usls £ (Roots) s
j;,\ i LS e e S LT ke (L) -8

1%e

m+5n m+5 10n ﬂ}n m+5n m+35
the value of + p.if m= £ I_,"‘R\‘J P fir'}”_.f g + E
m-5n m-5p n+p A J\_/) n+p m-5n m-5p
\ I'“‘*.f’
x> —=3x+]1 /@\3

(b) Resolve into partial fractions ——————
x=1)° (x- 21<,\
(a) 11U={1,2,3,4,5,6,7,8,9,10}, AF{1 3,’&%}

3

B={2,3,5,7} then verify (A B}aﬁﬁ w B’
(b) The salaries of five teachers (m rupees] are as follows
11500,12400,15000,14500,14800

Find standard deviation.

1+sin®@ 1-—sind
(a) Verify the identity. == — =41tanb secl
| —sin@ 1+ sinB

(b) Inscribe a circle in an equilateral triangle ABC with

each side of length S5cm.

Prove that perpendicular from the centre of a circle
on a chord bisects it.
OR
Prove that the opposite angles of any quadrilateral inscribed

in a circle are supplementary.

110-15tA 223-95000

—3x+1
"—L LWL 67 ()
(K*i) (x=2)
U=(1,2,3.4,5,6,7,8,9,10}, A={1,3,5,7,8} /I (L) _7
(AN B) = A'UB' -&5 =t'¥ B={2,3,5,7}
St (e LIF Sl ()
11500,12400,15000,14500,14800
1+ sm'B l —sinf
=4tan® secO _zf b lir () 8
l—smB I+51nﬁ
L 18 eternib 1§ ABC &b Liowt $ibe ()

_ﬁKEJHJ(‘Jw/;

Ju’h ::’{ 73 d/c'_.. /G‘L @fh.’/é;& -9
- t'f-.-;:.""'-

b
e sl3 46 £ g $r7 S P s e
Y o d/'-h;'(
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Mathematics (Science Group)  Paper: II (tfs IT S (LEE) 1A 223 . v) 11 2¢ Gl

Time: 20 Minutes . Group: II Code: 7198 .'.-sfl,w < 20
Marks: 15 &y -2-23 Objective (%> 15:¢

fﬁh#&bﬁvm:ﬁ;r_uﬁuﬁb i{.a&l.—ﬁdlrg{(éi’dw-qi{.andc- Be Al sCufe Ly : 2
-&ﬂﬂﬂu&gﬁ#&”ﬁféf&-’_f.sz}'bupa.-.g Y P )

1- 1-1f A< B then AN B is equal to &tz AMB I AcB 1 _4
A" (D) ? © A (B) - B @
2-, Mean is affected by change in e dnact 2L 3 S, Srl S 2
number . (D) rate ..gf'blﬁ (C) scale fl_;;g ( place & (A)

3- Radii of a circle are S L e b5 fi 3

all unequal 2l #eU (A)

uble of the diameter /= 5 (C)
G- bl ¥ 60° ¢ Jr Sl ma i La

Kot s K2ty

2¢m (B) 1em (A)
e b g od 5S 5

data A (A)

frequency distribution r':" i) (C)

all equal £LzrV (B)
half of any chord  &.,Te 75" (D)
A 4cm long chord subtends a centeral angle of 0°.

E.N
i

The radial segment of this circle is
4cm (D) 3cm (C)

A grouped frequency table is also called
rectangle J-*;‘ {B)
frequency polygone L0269 (D)
B cosec’6— cot’0 =7

(4]
]

%N 2 2
CN cosec’@-cot“0=7 _g

1 (D) 0 ( o) T1B) tand (A)
7- A tangent line touches the circle at el et emupvs g7
no point 7y i’ (D) three points ¢t (C) ﬁn‘}ﬁamts ¢+ (B) single point ;L5 (1 (A)
8- The portion of a circle between two radii ang an arc‘L;—J] | e £ sl n ot g9 L1722 K 2 I _8
is called #\Jf}ﬁ\j\’ : < tion
diameter & (D) ,.E‘{"-?{(Efiﬁ‘;-’;’ (C)  segment & (B) sector £ (A)
9- The quadratic formula is A « Ul G -0
b+ Vb’ +4ac Illti!2+4ac bxvb%- 4ac ~btVb%-4ac
X= *—-——23 (D) x=% oY C) x= -————-—2a (B) = = (A)
10- If @, are the roots of x?—x—[ =0 then product 2B i 20 Fegn L X2 —x=1=0 b a,p S -10
of 2a and 2B is Py "] 1
+4 (D) -4 (C) -2 (B) 2 (A)
11- In proportion a:b::c:d, aapd d are called Jl dastagt abiied b =11
extremes %} (D) consequent (S (C) means o (B) third proportional 14 (A)
12- The set having only one element is called < b uf L1l L 12
sub set m?' (D) power set <xwi (C) singleton set -...-rCE‘ (B) null set Zxi6 (A)
13- Cube roots of -1' are ot P L1 <13
: S P (>) -l,~o,0° (C) l,-o,-a> (B) -l,0,-0° (A)
14 If y oc v2 . then Inueay? fi-14
w?=k (D) u=kv? (C) w’ =1 (B) u=v? (A)
18- 2x+1 & ’ | 2x+1 15
(x+1)(x=1) T ke x=1)
an equation =il (B) a proper fraction ~ /_als (A)

an identity =L’ (D) ,; an improper fraction _/_z1,# (C)
111-(IV)-15tA 223-86000



Mathematics (Science Group)  Paper: T (Gt Il 24JFUEE) 194 228 11 4, (0 L

Time: 2:10 Hours Group: II ﬁ'_,,_)'E,.-,‘, 240 =5
Marks: 60 Subjective &1 Gy J-2-273 60 : ot
Note: Section I is compulsory. Attempt any THREE (3) questions  (3) L e lj}rc_ gﬂr.u..iﬂ -4y Jilo ;o)
from Section II. However question No. NINE (9) is compulsory -5 $iu(9) }/?Jffr‘rt' iuh::ﬂlr’
) Section I Jilo
2. Write short answers to any SIX questions. (2x6=12) E fez Pl (6 & 2 2
i- Define quardratic equation. *5 _.iéﬁJalst G i
i~ Write the equation in standard form ol + x_14- =3 ﬁ + ﬁ =3 &L LUl San -i
iii- Solve by factorization x”—11x =152 x2_l1x =152 Z£ S UL 2% i
iv- Find the discriminant of given equation x° -3 x+3=0 x2-3x+3=0 Ff'_-’rﬁ-"a;f&) Fetis 6 -iv
v- Evaluate (]—u}r—mz)7 (I _m_mz)? Sl Ly
vi- Write down the quadratic equation from given roots 1, 5 1,56 Ebhebl-fune iju & &y Vi
vii- Define proportion. - = /7&/ vl
viii- Find third proportional to 6, 12 i"\ 6, 12 E'fr':"’th' LA viii
ix- If R oz TZ and R=8 when T=3, find R when T=6 T=6.4 ¢ é}%ﬁv’ﬁfm"r 3.2R=8. R T S _ix
3 Write short answers to any SIX questions. (2x6 "@Q\ﬁ \ﬂ - -5 gf ..-.pz;*ﬁ.:.-ﬂfr(ﬁ) &.-_.Jf -3
i- Define resultant fraction. N (1 ,:’] _é -..y/':’- J / JU -
. ""\{‘_\,h
ii- Convert into proper fraction M (:f{h M =0 Y
xz—x—,l\"\{-f* - 2x%2-x-] S
iii- What is meant by cartesian producj? \“\ 3 fe sl S gEE i
iv- IFU=(1,2,3, . ... ., 10}, A={2, 3«5?&} then find A" L A Ju=(1,23,...., 10), A={2,3,5,7} /I _iv
v- It X=(1,4,7,9),Y=(2,4,5,9) then find XY g XN Y FX={1,4,7,9),Y=(2,4,59/ _v
vi- 1f £={(0,1),(1,2).(2,3),(3,4)} then find domain and Eonl as 8 17 12{(0,1),(1,2),(2,3).(3, )1 -vi
range of . Lo |
vii- What is Cumulative frequency? fur E"',-(é BB il
viii- Find the median of the data 2.3, 2.7, 2.5,2.9, 3.1, 1.9 23,27,25,29,31,1.9 :”: rs'*’._;up-, §aly Vil
ix- For the following data find the harmonic mean S o bl LT A &ordivs ix
x|12( 5|84 x|12|/ 58| 4
4- Write short answers to any SIX questions. (2x6=12) -ﬁzfaw}ﬁ&uu&-{ﬁ) & :.-Jf -4
i- Convert —150° to radian. ek gt 1500 i
ii- Find® when £=2cm , r=3.5¢cm £=2cm«r=3.5cm Q&0 i
iii- Verify that St;iﬁ + Sinf = Cosec Csc:z? +8inf = Cosecd J2= = -l
iv- Define quadrantal angle. 5' E oyl v

(“idm



v- Define right angle.
vi- Define tangent to a circle.
vii- Define sector of a circle.
viii- Divide an arc-of any length into two equal parts.

ix- Define the inscribed circle.

(2)

B Pl v
o pluw Ll i

-«’:f:f. __!,/JJ/:?L oy i

T (T2 S I R

..E.-’:..é‘/‘j(_;a}bu‘; ~ix

(A a Loz pm 28 LJw ) Sectionll n o
- @ AU e ZE Ser (3) L df

Note: Attempt any THREE (3) questions. However

5-

question No. NINE (9) is compulsory.
(a) Solve the equation by completing square
2% =5%-3=0

(b) Provethat x4+ y® = (x+ y)(x+ 0y)(x+®°Y)

@ If —=—==(a,bc,de,f=0)
a) If —=—=—(abcde,l#
b d f
a al+cirel {
thenshowthat-t;— _-_—b2+d2+f2 (}_Cfor/
f.l"‘..<zt\‘-'./
q’".'\""

I .

(b) Resolve into partial fractions
; g D

(a) fA={1,2,3,4,5,6}, B= {z’liJB“B}
then prove that A B=Bn A
(b) Find the standard deviation 9,3,8,8,9,89 18

Sind+ Cosd  Cos’0
Tan’0-1  Sin6- Cosb

(@) Prove that

(b) Inscribe a circle in an equilateral triangle ABC

with each side of length S5cm.

Prove that two chords of a circle which are
equidistant from the centre, are congruent.

OR
Prove that the measure of a central angle of a
‘minor arc of a circle, is double that of the angle
subtended by the corresponding major arc.

111-15%A 223-86000

_éfd'/ d:’f_:!_»% S tsls (3

R A pa] ¢ J 32 ("-"
(x—1)2 (x+1) £ S G ()

A={1,2,3,4.5.6), B={2,4,6,8) /I (L)

ANB=BNA & =t 7
9,3,8,8,0,8,0,18 25 p# SiIA fular (L)
Sin+Cos8  Cos’6

Tan“6-1 ~ Sing- Cosb
L 10 o S e 4§ ABC & LUl Gl ()
n5dy &
Ust Wbl $slr e T2 S ey Jg ok

-t L JE A

L
Al §F s & e ot J(Ié -
- b AP J‘._-J!:‘JJ"‘;£ a/ﬁfg_‘.:";:ﬂ? LE! 15

6

i
[++]
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Mathematics (Science Group) Paper: 11 (l&, JW e M d_,ﬁd‘, AL) 1%tA 223-(IV) I 24 (T”’Lﬁf)?}"

Time: 20 Minutes Group: I Code: 7197 1)’11’; & 20 1 =
Marks: 15 Objactive (5> [';r/-*/-—p,\j 15: /o
Qb Ltz eon e S Ui Los b Ll g ¢ 617 SLEIDMC B Aclip F vy i 2
! B 12 ols e S LS L SN LS o S st ks e s A il S S a0 S
Ll o i?-t-ra#:lian= _¢4|JJ1,3_“ -1 1
4 4
30° (D) 150° (C) 135% (B) 115° (A)
2- An arc subtends a central angle of 40°. Then the -3l S ¥ 5 3 L  40° ol SIr¥u il 22

corresponding chord will subtend a central angle of -< bn

C 20° (A)

f I A LT

80° (D) 40°
3- A circle has only one

centre /7 (D) diameter/ # (C) » (B) secant 6L (A)

4-If A< B then A—B is equal to . ,f]k"\) v tnds A-B in AcB Ji 4
¢ (D) B-A g;:)\ ij A (A)

. Mean is affected by change in A~ (E;\E\’\ e J_Jf J a% 4> s
value =4 (D) A ré\ e (C) scale -k (B) place £ (A)

The number of terms in a staﬁdg‘r& quadrahc equation e axz +bx+c = 0=bls Gl o 6

ax’+bx+c=0 is ce s fusd
4@ 37(C) . 2 @8) 1A

7- Sum of the deviation of the variable X from its mean (lfi e b Qo L NE XA T
is always ) E - bn 2R e
different ¥ (D) same L=l (C) one i (B) zero > (A)

8 If u o v then Juoav:/-s
u=kv? () uv? =1 (C) uv? =k (B) u=v? (A

9- Angle inscribed in a semi circle is -& b .,;I}u‘ﬂ_ﬂ s 9
% (D) % (€) 3;- (8) -’25 )

10- Sum of the cube roots of unity is £~ 4 __JG’L-JQ L Jb’i -10

3 (D) -1(C) 1 (B) 0 (A)



s 1
11- Ify u—3 then
x- ]

X+2

12-
I)(xl + 2) are of the form

Partial fractions of
. (x+

e
X242

i Bx 5
X242 =

Ax+B
X+ 1

A
x+ 1

(C)

13- Product of cube roots of unity is
3 (D) -1(C)
14- The different number of ways to describe a set is

4 (D) 3 (€)

7 },'zc:ti:j A -1
X
1 k
y'=— (@) == ®w
X X
In SRS b7 S et — 12
bl LRl b g
A Bx+C A B
— (@) ——+—— (A)
X+l x“+2 x+1 x+2
e PH ¥ s £ 6 13
1 (B) 0 (A)

er,w SuRpBEL Syl for 14

,m\”\f’ 2 (B) 1 (A)

15- The distance of any point of the circle to its centre is called . x;\ ~_¢_ o bl I P- &Lt 15

01\3
an arc u’)-..{ (D) achord .l (C} 9 diameter M (B) radius s (A)
_,’,(F\S hj
110-(IV)-1%*A 223-95000 O
\k‘-\f{/\
.\:\ A
rﬁ‘:\ T‘\"

<N '\‘v‘
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_Mathematics (Science c‘;-‘mp} Paper: 11 tfﬁ:u'ﬂ»"e II ..e.-.aw:-‘;'(}.;i*?) 22-(IV) LS (_%.U{ﬁ.{l Ls‘d'y
Time: 20 Riinutes Group: 1 Code: 7187 g?-}/q:!iﬁ" Lo 201 &
Warks: 18 Qbjective Lid 16 1 9L

O Lot e e 2 usth Lés et Ldv 4 LR et LD HIC B Al o6 Nl oy
B ? LR il A ._,.:r‘d/d_f.;; Souk VEiL LS s vkl e L - A e pl S oo s
- 1-Inaratio x:y, y is called GUT -4’-7_.]'“ _?rlkfy Un xty e 1 1

none of these u‘?’{j:‘/ (D) consequent r';d/u (C) antecedent r';(_,{ﬁ-’ (B) relation ul" (A)
2- A grouped frequency table is also called ~-§-—Ui'rdur wa’{)"vr -2
frequercyyistribution— f"'%T-"_(Bj - data sl (A)
none of these -.I.?'df.-_'-wul (D) frequency polygon LU= (C)
3- If u o v2 . then Inuo vl fig
w?=1 (D uw? =k (© u=kv? (B) u=v: (A
4- The set having only one element is called ~G- b e u( SN A A
subset ._'.a*u? (D) signleton set ...,riif {é} powersel il (B) null set  sxJ06 (A)
5- If &, B are the roots gt OB Fun UL 3x2 L 5% 2 = 0 el a,P S5
of 3x% +5%x-2 = 0. then a+f isequal to
-2 _ -5 . 3 g .
3 0y - 3 (€) g .FB) 3 (A)
6- The circumference of a circle is called | hv, ) -q_tﬂrfk_{ Ke 2y .6
diameter & (D) segment & (C) chfc.tr\ 73 (B) boundary =, (A)
7- 20°= - x\\ =20" .7
288 -
3600' (D) 360' {c (9 630' (B) ’1200' (A)
8- A 4 cm long chrod subtends a central angle of 60,( \Q\ W’ =l o ¥ 60° ¢ S 25 QU 74 T e
The radial segment of this circle is ‘“’"‘ \L 7 U K el
F4cm (D) \ji‘)g’cm (©) ~2cm (B) Flem (A)
9- A function of the form f(x)-- g@’) \w}th D(x)#0 Lt (‘ f(x) = EEK,}}
D(x) # 0 where N(x) and D(x) are polynomials in x is called —UtU & D) o N(x) -
none of these UA/e- 2wl (D) a fraction A (C)  anequation =hl- (B) an identity «Jtir (A)
10- Radii of a circle are ' Ut Ul L2 (5 L -10
double of the diameter o & (B) all equal x!xrl? (A)
half of any chord &)= 73" (D) all unequal 420 (C)
11- Standard form of quadratic equation is ) ,q.lﬁ slas bl G s 14
ax2+bx+c=0, a0 (B) bx+c =0, b20 (4
ax?':i], az0 (D) axzsz, a0 (C)
12- A collection of well-defined objects s called et A B 12
none of these ui"s(_;f:_.u'.'ui (D) set JL» fC} power set ""‘-‘-'”E (B) subsel -_'arJ; (A)
13- Roots of the equation 4,(3 -5x+2=0 are .,u_?uju!l.q x 2 —5x42=0 =bl—s <13
none of these (8" (D rational Pt (C)  imaginary (54 (8)  imrational Pté (A)
14- Aline which has two points in common with a circle is called  -c_tlkc Un SF b6 n A Le L i3 L 14
cosine ofacircle  cosine ¥e_ /i (B) " sineofacircle sine ¥/ (A)
secantofacircle  secant K~y (D) tangentof acircle  tangent k.7, (C)
15- A cumulative frequancy table is also called -{_t'ﬂ;f d!)f (o2 Lt)f ~15
data s (B) frequency distribution (“" Wl (A)-

frequency polygen (=2 54° (D) less than cumulative frequancy distribution IS ()
110-(IV)-222-100000



Mathematics (Sclence Group) Paper: II (ﬁ:(ﬂf «II daxkdpdiﬁf') 222 Il ¢ (,r,fu""b) U‘-'!:;

Timn: 2:10 Hours Group: I 570/1&1‘; & 2:10: 2
Marks: 60 Subjective (i 60 : /%
-l (9) }/:}Jfr“?t' .._ﬁu’u::-llirf (3) of e L;:'Jc'_ (AT R ¥ Jil o oLy
Section I
2- Write short answers to any SIX questions: (2 x 6 = .4] é{fa&&ﬁ'ﬁwﬂlﬂﬁj éc.(jf -2
I- Write the quadratic equation x*+ Mo X 1 in the ufrxlsd bees X ; L -}_;f- = 1 whlefnn
standard form. :
i~ Solve x2+ 7%-72 =( using quadratic formula. uéé.‘dyc.u JLL*‘JE 9] ni xz.g. Tx=2=0 =hlr i
ili- Define reciprocal equation. —Zf-'"j-i’f" $ ebibas® - i
Iv- Discuss the nature of roots of equation 2 x2—Tx+3 =0 ..i.fé.»i{rul u(u“;; L 2%% - Tx+3=0 ahl- ~iv
V- Evaluate (1—3@—-302)° g edd (1-30-30?)° =Y
vi- Without solving find the sum and product of the roots pred b’,_/:,,é.’_é S 3x%4+7x=11=0 =bls -vi
of quadratic equation 3x24+7x—11=0 | R N T
vii- Define proportion. A - S i
vill- Find third proportional to 6, 12, \f#f ) urfr}"».,.fb- 2K 6,12 = viil
ix-1f VR and V=5when R=3 find R N \rA{‘iﬁ?nRﬂ w2 V=5u VaeR3IN -ix
when V=625 2% j“” V=625 Gzt
3 Write short answers to any SIX questions: (%xﬁ _}21 -f,{.:.‘(fal,lz/ﬂ'éu!!r(s} éc_df -3
l- What is a proper fraction? | ff{\, fedn Sah i
- Resolve " into partial fractions. Q; (:;\\3’ _gf Jf-wu'-' U Ut —;2—1~_—I C i
i If X=(1,4,7,9), Y={2,4,5,9}, Ih\em YUX Jnr¥={2,4,50 X=(1,47.90 i
find YUX a\ /\ _ _:_.f.fr,l.v
iv- Define an onto function. IS ST
v- If L={a, b, c}, M= (3, 4}, then find two binary Ll LxM in M={3,4)«L={a,b, c})’ -V
ralations of L x M. e sy ¢
vi- Find the sets X and Y, If N &l (sets) u? Yo X i
XxY = {(a,a),(b,a),(c,a),(d,a)} XxY = {(a,a),(b,a),(c,a);(d,a)}
vii- On 5 term tests in Mathematics, a student has made A;/J;.z.w .LH'..JIL LI e L) Z:L L\ i
marks of 82, 93, 86, 92 and 79. Find the median of b s &40/ 82,93, 86, 92 4 79
the marks.
viil- Find arithmetic mean by direct method for the following :ép’ﬂ' bl Qb €0l S5t =B hls b _viii
seiofdata 12, 14, 17, 20, 24, 29, 35, 45 12, 14, 17, 20, 24, 29, 35, 45
ix- Define a frequency disribution. .—L" ._J/J J (‘{fwl ~iX
1- Write short answers to any SIX questions: - (2x6=12) -£{fw“.?/ﬂ£umf(5} & c.Jf <4
i- Define an angle. . -E;f-:h.y/"f,su o
li- Express the following sexagesimal measure of angle :QJLPJ,JWUC_,;U SiowLis L i
in decimal form  60° 30' 30" 60° 30' 30"

3
lii- Convert. 377: into degree. e NS e



7-

8-

(2)
L : 1
[_ ' - - t —-— 4 I
V- Find 'r', when =4 cm, 6_*4 radians. C’U;ql 2 I=4 - | 9_4 fhs LGy

~iv
v- Define projection. , Ll Ly
vi- Define tangent, Lo i
vil- Define sector of a circle. _Z;-.’._.y/TJ}PL'_}IJ Vi
vili- Define triangle. el i
iX- Define circumscribed circle. ; E S i
=020 (9) 72 i cgE el (3) f e (e 2 (i o
WALz A8 LDy ) Sectionr (o o
33 <
(@) Solve the equation X2 +17x + i 0 by _ag{,_)’;_dﬂjszf x2+17x + %3- =0 wits (L) -5
: CON i
completing square. (\” 2
(b) Find the value of "h" using synthetic division if '1'is ,;..t;\:,g}}’f) gEpbed e Jis £ 20D
the zero of tHe polynomial x3_.75x2 4 11 "3\“3_) : ~A305K w3 opx? 4 11 6
N
a [a%4c? (L>‘/] a [aZ+4c?
(@ Ifa:b=c:d, then show that — = —-2—_——,__;;;@}‘;\; R e St I atb=c:d (i) -6
b Vu?uad® b Yp24d2 °°
: 7x-25{\ OV 7x~25
(b) Resolve into partial fraction e Ry : ) T ()
olve into pa actions W ":L}j”uiu.'/dﬁf (x—4)(x—3) "
(@ If L={x|xeNaxx<5) ’\\\; «L={x|xeNax<5} fi() -7
M={y|yeP~y <10} then make the In M={y|lyePAry <10} 4
relation R3 = {(X,¥) | x+y =6} from L to M. &k Ry ={xy)|x+y=6) WyMe L
(b) Find the standard deviation 'S' 9, 3,8, 8,9, 8,9, 18 9,3,88,9,8,0,18 &k s UiA flar (L)
(a) Verify the identity: kel (L) -8
(tan @ + cot 8)(cos O + sih 0) = sec 0 + cosec @ (tan 8+ cot 8)(cos 8 + sin 8) = sec 0 -+ cosec 0
(b) Inscribe a circle in an equilateral triangle with each LB Ebrtr Y ABC ulb b ilopicfl- G
side of length 5 cm. ("5 v,
Prove that one and only one circle can pass through qg_l:;;fufhui LS L b LP,{JJ’&':Q.«P -9
three non-collinear points. '
OR b
Prove that any two angles in the same segment of a Ut gle AL Une Cb L2 oy U bl 2 ity SEE e

circle are equal.

110-222-100000



Mathematics (Science Greup) Paper: II (Ao e IT drf b k) 22241TT) I .2¢ Coen Y (5
Time: 20 kithules Group: 11 Code: 7196 L@*}j f;.«*.u e 20 1y
Marks: 16 Objective {fu’_‘ 15 : u{;t

Jlbs é:uf.l e e U U & r.’fé..: &l £:_}h"; £ (élﬁ}ff -ufdri.; D CiBe Al .ﬁxb .:':.Jfr‘_,- DLy
Bor ¥ Ll - ol o HJ!JL(LI.; k ‘{_./r.; Jl"uj_fh 1% c..uf (.f.-; A fl S .l(l/"J Jirt o

A

superset Le (D) singleton sef ._'.rif (C)

1- A setwith no element is called

2- Third proportional of x* and y° is
2 4
L o L ©
x* x?

3- A data in the form of frequency distribution is called

v7-4

[ 3- T

empty set el (B)

_.—I.:.,Nh-'/rﬂ.:-ui‘.:dfu: Ve o1 1
subsel 2x (A)
B LFE g2l %% 2

2

X:,-'z

(8)
- J‘*J r"" s -3

5 A

denominator &4 (D) histogram SH¥ (C) ungroupeddata si($sSé (B) groupeddata siviss” (A)

4- The distance of any point of the circle to iis centre is called
an arc L)‘J’u..{l (D) achord 7icll (C)
§- Mean is affected by change in
place £ (D)
6- Angle inscribed in a semi-circle is

2 D)

7- If b—4ac>0 but not perfect square

origin U (C)

WA

(C)

then roots of axz +bx+c=0 are
none of these u"éf (D)

e Wb ¥ E S L8 L 4

diameter & (B) radius (T (A)
-t Wil Sl S} w2 kot -5
ratio <+’ (B) value =4 (A)

. et e S i 6
T 7t
4 (B) E (A)
ﬂ@fdxdﬁj‘g b2—dac> 0 A -7

(_) U‘“u’uéax +bx+c=0 =hl-

irrational  (Pt4 (C) Ok\’?r&k‘unal J% (B) imaginary N 24 (A)

8- The quadratic formula is L'/ 9 _ ~Usb G 2 2B
N
bt Vb-4dac, )\ — bt Vb?—4ac -
= (PABY -
2a o)~ 2a
b e Fac ~ bt Vb2 +4ac
=—=I1 (D) L (C)
A 2a . 2a
AT
9 (x+3)2 =x2+6x+9 is Ay L8 e x+3)2 =x%46x+9 -9
anequation «hl- (B) alinear equation =hlegnf (A)
none ofthese e Lt (D) anidentity «fr (C)
10- An arc subtends a central angle of 40°, then the K 75 a2 - 40° s,ug’)} fu}.{i =10
corresponding chord will subtend a central angle of ~&-bst il d}fr
80° (D) 60° (C) 40° (B) 20° (A)
11- Sum of cube roots of unity is _,&._,_.f h’.,»ﬂl;.:g cﬁ{jk’r 11
3 (D) -1 (0) 1 (B) 0 (A)
12- The domain of R ={(0,2),(2,3).(3,3).(3,4)} is e (v Dom. R 7% R ={(0,2),(2,3),(3.3).(3.4)) /1 -12
{234} (D) (0,24} (C) {0,2,3} (B) {0,3,4} (A)
1
13- % cosec45° = ) cosec 45° = _13
/i i 1
= O V2 (© H® N
14- If a:b=x :y, then alternando property is cezlul Py atb=x vy N .14
a-b b _Xx-y a+b:x+y a_x . E=E-A
" y (D) b y (C) by (B) X 7 (A)
15- A circle has only one ~ebn Ukl Ke o i 15
centre 7 (D) diameter & (C) chord 75 (B) secant &%k (A) .

111-(111)-222-87000
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Time: 2:10 Hours Group: II ;i;lﬁ/ﬂ & 210! =
Marks: 60 Subjective (ji 80 : U7k

.,q_-;j.lil (9) )/)Jfr('t‘ c’z'.:d’utlfr (3) u:c:.{jf::. ru_-n-.adjli Jit s 1 Ly

512;1':_!11!.&1&

2- Write short answers to any SIX questions:

x+4 x-4

V3x+18 ="x

iil- Define reciprocal equation.

iv- Find the value of p, if the ratios 2p+5: 3p + 4
and 3:4 are equal.

v- Find the third proportional to a-b2, a-

Il- Solve

vi- Define Inverse variation.
vil- Discuss the nature of roots of quadratic

3x%+7x-13=0
viii- Without solving, find the sum and the product of roots
of quadratic equation (£ + m)x?%+ (m+n)x+n-£=0

equation

ix- Evaluata 374 385
3 Write short answers to any SIX questions:

i- Define identity. 9“:\%)

. x=9 ‘Y

ii- Resolve -———————- into partial fractions. 4}/1
(x+1)(x-3) ;f;,;;;\,“

- If A=(2,3,5,7), B ={3,5,8), then find AmB O
lv- Write De-Morgan's Laws. «\\" ,‘f" ¢
v- If L= {a,b,c), then find two binary Eatfpps in LxL
vi- Find a and b, If (a-4,b-2)%{21)
vil- Find the geometric mean of the observations 2, 4, 8
using logarithmic formula,
vill- The aalar!ea of five teachers in rupaes are as follows
11500. 12400, 15000, 14500, 14800 find the range.
ix- Define arithmetic mean.

4- Write short answers to any SIX questions: (2x6=12)

i~ What is the sexagesimal system of measurement of angles?

ii~ Express the following sexagesimal measure of the angle
in decimal form  60° 30' 30"

137
il- Convert E to degree.

V- Find @ when £=45m, r=25m
v- Define right angle.
vi- Define secant.
vii- What Is meant by arc of a circle?
viii- Define diameter.

Ix- Define circumcircle.

(2x6=12) \-’

-z ;f...,ug;”&..,wr(s) S 2
- Write -—1—-1-—1-- = 3 in standard form. qur'q‘n‘ébcpud,wf ——---+—~— =3

-c:fd'f «/3x+1 =
_é._ﬂf’thL—*JJﬁ“'

s 2p+5; 3b+4u"‘”/=£r:‘"_mfp

~Unt sz 3:4
-E,é—r':!”gti[xf'h’ a?-b% a-b

AN

-‘Effé—f{rwtfﬁufi_'?,x% Tx—13=0 whi

S (@ +m)x2+ (mtn)x+n—0 =0 bl

i

Iil
-V

Vi
=Vl

~viii

!_g{.p'."’...'m 2l J!"E’(fl;,:"{&’:{j' -
\xf‘ir:“’u-a’uf o +p-5 -ix

2L
7x-9
LS L0 S & Do)

& ANB Jx B={3,58) A=(2.357) /1

B LS

-ﬁ{‘)""bluljl:.uﬁ LxL /x L= {abc})’

(a-4,b-2)=(2,1) Jizket b 4 a

SR A 24,8 wla csa S0k FE)

s b (VL) ¥ i gy

&l 11500, 12400, 15000, 14500, 14800

i:__p/; J .lwl'dl-?

ML i 8) &S L3

- fii
-V
-V

Vi
Vi

Vil

~ix

E el (6) & S 4

e VPl ¥ Ui LA ¥ e Sugns
ALl Bn £é s kLS
60°30' 30" &2 LU

“Ze L6 13“

L=45% r=25X% & :«;i.’pl" 0
A T

S B

*—'q-t]ﬂ YUI S et

AN

g S v

-
-l

il
v
-V
~vi
Vi

~viil



(2)

- G(9) I A b S iy (3) F e e S o 2
(uf/'} 4 L7 oL /} 8 ZJir ) Section IT (1) _m> 40‘74 1_1_;.

(a) Solve the equation 7x2 + 2x—1 = 0 by
completing square.
(b) Provethat x>+ y3 = (x+y)(x + oy)(x + mzy}

(a) Find x in the proportion:
3x-1 3 2x 7
7 787 33
Ix-11 . .
(b) Resolve into partial fractions.

(x+3)(x2+1)
(@ U={1,23,...., 10}, A={1,3,5 7,9} and
B=(1,4,7, 10}, then verify (A-B)'=A'UB

(b) Calculate variance of the data:

-éf-z"d’c-dfn.i’(f 7x2 4+ 2x—1=0 whls (Lih) <5

%3+ y3 = (x + Y)(x +ay)x +0ly) St (&)
e ed § x B () -6
dx:1,3, 2% 7
7 535
S sal T
(x+ 3)(x2+1)
A= {1355.?9’3 U={1,2,3, ..., 10) S () _7
(A- Hzc-rﬁA‘UB Zhetin B= {1 4,7,10) sl

rj\“\a_«gzrm 8,9,7,5,12,8,6,8,20r z, (%
A

10,8,9,7,5, 12, 8,6, 8,2 _r;\}ij s
(a) Find the angle of elevation of the sun if ¢ ~(& w,r L6 LB b i) K Ty (i) -8
a 6 feet man casts a 3.5 feet shadow. g. <, \/ iqz.‘...-! 3.5 b
{(b) In and around the circle of radius 4:4‘;1\ﬂraw b By ol 1 S e 4y L (L)
a square. ~ ,‘\ 3

‘\

Prove that two chords of a circle wﬁi&h are
equidistant from the centre are congruent.

OR

Prove that the opposite angles of any quadrilateral
inscribed in a circle are supplementary.

111-222-97000
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Mathematics (Science Group) Paper: II (o I m;d;d:ﬁ?) 221+(I1) Iz (D)
Time: 20 Minutes Group: I Oblective 5> .rjll,; & 20 : =y
Marks: 15 Code: 7183 § y 7_6 (=21 15 :
I Lz en e J b T U 1 ¢ eIz SLEDACB. A MY 4 .-F;k Clirp s
Bt s 4l -l e A ..'.*.J:*"JE../,E, Sak LS4 st b ekl s e ofl S S S
- 1- A cgmp!ate circle is divided into -Fbl Lf(j i .:./’IJJ“' .
270° (D) 380° (C) 180° (B) 90° (A)
2- A grouped frequency table is also called - g S (15 r.ﬁ:/ <¥
frequency distribution ;‘-:" :j'w" (B) data i (A)

frequency polygon {ue 2§y (C)
bt i o Fy il _3
T

6
_ﬂ(x+3)2=x2+ﬁx+9_4

range =~ (D)
3- Angle inscribed in a semi circle is
T

2
4- (x+3°=x2+6x+90 is

EC
7 ©

n
4

(D) (B) (A)

-

an equation =L+ (B)
third degree equation =hi-gut (D)
5- The arcs opposite to incongruent central angles of

a lifear equation =lhl~fnsf (A)
anidentity <=4l” (C)
Lﬂﬁu;_'ﬂ}d};* JL:'."‘/;;U Kbkl 5

a circle are always
incongruent Jl=# (D)

8- The number of terms in a standard

quadratic equation ax? + bx + ¢ =

4 (D)

7- Sum of the cube roots of unity is

3 (D)

B- Tangents drawn at the ends of diameter 3@, 2k

circle are ‘to each other.

parallel (1 (D) not-parallel 57 (C)
9- The domain of R = {(0, 2), (2, 3), 3, 3),(3, 4)} is

{2,3,4 (D)
10- ¢ u e vz.then
uwv? =1 (D)

11- If b2 - 4ac < 0, then the roots
of ax?+bx+c=0 are
natural = (3,3 (D)
12- Point (-1, 4) lies in the quadrant
IV (D)
13- Mean is affected by change in
none of these & /2ui (D)

u v
14-1f —=—=k then
v W

u=v2k (D)
15- % cosec 45° =

1

2 ©

110-(11)-221-100,000

AN - Usr AR ¥ <t ’ Ul
congruent f i (C) perpendi Iar\J)ﬂ’(B] parallel (i (A)
_cl*...ri.i:-‘- Ju_ gfﬁlxz +bx+c=0 ahi Gl .6
AR
0 is WD)

3 e © 2 @® 1A
M e i L0 L7

<& e 1 (8) 0 (A
- SLARTurdL g{ LBl 7 8

M \

o _ collinear 17 (B) perpendicular »f (A)
~-Us DomR 75 R={(0,2),(2,3),(3,3), (3,4} / -9

{0, 2, 4} (C) 10,2, 3} (B) {0, 3, 4} (A)
I u o vl fi-10
w? =k (C) U= kv? (B) u=vZ (A)

SEA 1 x4 bx+ €= 0 hls I b? - dac <0 S 11

imaginary 354 (C) rational (*t (B) irrational (Pt (A)

—ebt LB (-1,4) B .12

11 (c) I (B) I (A)
bt e LSS kil 13
origin sUE" (C) rato < (B) value =f (A)
T AN N
vV W
u=w?k (C) u=vk? (B) u=wk? (A)
1 cosec 45° = _15
2
1 3
>5 © 5 ® V2 @
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Time: 2:10 Hours Group: I oy & 2:10:
Marks: 60 CI"U]. -4\.1'15_!21% desit 60 : A

- @) A E ey Q) L e B o e o S

Section I J3l.2

2. Write shorfanswers to any SIX questions: (2x6=12) “ZE fe 2Pl 6) £ <0 -2
i- Define quadratic equation. vy J O L TR
ii- Solve: x%+2x-2=0 -éd’f X2 +2x-2=0 _ii
iii- Write the quadratic gaquation in the standard form: (x+7)x=-3)=-7T =bls@unn _ii
(x + T)x-3) =7 S b e S
iv- Discuss the nature of roots of equation: x?+3x+5=0 £Jf s Juju._ xX“+3Ix+5=0 bl _iv
V- Evaluate: (1—3(0—3032)5 _g-fr}".:,-é g (1—30}*3m2)5 -V
vi- Without solving the quadratic equation x? - 5x +3=0 find AL S x2-5x+3=0 cbisfon v
sum and product of its roots. REA N P (L

vii- Express the ratio as a fraction in its simplest form: Al T J / et S 30 e 27: 581 i
1 hour : 27 min 30 sec s f

viii- If y varies directlyas x, and y=8 when x=2, LZy=8ulyns u»'b; y»lx A - vili
find x when y = 28 A Y=28 B ZEeb x Ja x=2

ix- Find third proportional to 6, 12 \' } ) e 612 i

3 Write short answers tolany SIX questions: (2x6=12) a /;f—} i{fuilﬂ/ﬂ L=y (6) £ ey 23
. x-11 M\ 11 .
i- Resolve into partial fraction ————— ’3*\«3 -id:'f Lz v N
(x—4)(x+3) NG (x—4)(x+3)
LN - . "
li- What is an improper fraction? ﬁ\\’w’ S f A g i
—~T O

iii- If A=N, B=W, then find A-B RO Zp A-BIx A=N,B=W S _ii
v-If Y=2*, T=0", thenfind YUT (i N A ek YUT Jn Y=2¥ T=0" S v

|~ ” «

v- Define one-one function. _ ﬁQ" ';3«" ..Efl: i 7 J S s v
vi- If (3-2a,b-1)=(a~7, 2b+\'53},‘thenﬁnd aand b _éf‘:"”bJsFaPﬁ(3—2a.b-1)=(a—T, 2b+5))? Vi
vii- Define class limits. P e Fla il

viii- Define a frequency distribution. _il_ﬂfJ(deﬁ - viii

ix- Write two properties|of arithmetic mean. 2y f....La:"' il bl ix

4- Write short answers to any SIX questions: (2x6=12) -é {;»..-Hﬁ/ﬂéumf[ﬁ} £ 4:.6./ -4
i- Define ratio and give one example. "8 L sl éf...yﬂlf_.ﬁ -i
i- If x and y? varies directly and x = 27 when y=4. y=4 2 x=27 sl n &'—f'lijgt y2 il x A i
Find the value of y when x =3 s x=3.08 gf,b-_.,,g Sy?

iii- Locte the angle 22_;.0 in xy- plane L Ut S5 - xy sl 22%0 - iii
Iv- Express t60]° angle into radian. 2500 ks S sli (80)° -V
v- Define an angle. ,:_i.:...sj ; J oY R
vi- What is the radian measure of the central angle of -2 25 Ul KUt sl e /2 50 YU g Uiz v

an arc 50 m long on the circle of radius 25 m? W K L hs ?fg:li U & 4 S
vii- Find r when [=56cm and §=45° e i S rIn 9=45° M 1=56 KEa il
vii- Ina A ABC , calculate mBC when £ mBC & AABC  vii
mAB=5cm, mAC=4cm, mZA=60°
ix- Divide an arc of any length into two equal parts. ué'rs.j B Ui n fUd ] J JL_J o’( -ix

(&0



@)
@) I AW ae ES ety Q) L e Lo LS

(A Lz s A8 L ws) Sectionll (2 60]‘_4’_2,

(a) Solve the equation 7x2+2x~1=0 by - SIS TR 2x-120() 8

completing square.

(b) Find the value of k, if the roots of the equation L (3k+2) x2 =5k + 1) x + (2k + 3) =0 =bloJT ()

(3k+2]’x2—5(k+ 1) x + (2k + 3) =0 are equal. ‘éf')”“:*‘f L{ k?ux.dmﬂ:
(a) moc% and m=2 when n=4 find m Zemin n=4 L m=2, mnc—li () -8
n n
when n=6 and n when m =432 o m=432. 2 Z nsl n=6 o2
(b) Resolve e 121 into partial fraction. ek D8 S 7 i 121 (&)
(x+3)(x“+1) (x+3)(x“+1)

@ If  U={1,2 3, ... 20} cU={1,23,...200 () -7
X={1,3,7,9, 15, 18, 20} A X={1,3,7,09, 15, 18, 20)
Y={1,3,5 .y 17) ) Y=2{1,3,5,....17)

then showthat Y-X=YNX' Ry o7 Y-X=YnX ek ix
(b) Find the standard deviation of 25 b A Wb ()
11500, 12400, 15000, 14500, 14800 1 (E) 11500, 12400, 15000, 14500, 14800
(8) Verify that ’ secO+1 secO+1 H%\:J‘/ secO+1 secO+1 e (L) -8
sec 0 —1 tan® (\';;;::i/' sec 6 —1 tan 6 i
(b) Circumscribe a circle about an equita,g?ﬁ%_!jﬁ'éngle LN tasihy 2126 ABC &4 LI~ (&)
ABC with each side of length 4 orf- o add S

Prove that the measure of a centrﬁ?ﬁﬁﬁle of a minor arc i a3 $Fp iy f*_,a-../.f“';,rf-‘lﬂ e u/ S é.:—:b -9

of a circle, is double that of the angle subtended by the e tnthy e L Lo §)

corresponding major arc
OR b
Prove that two tangents drawn to a circle sl Jl_,-' U UL e b G:,g ¢ JEE

fom a point outside it, are equal in length.

110-221-100,000
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Mathematics (Science Group) Paper: II (o M&M) 221(11) O 'r"/Ux'f) lf'&f

Time: 20 Minutes Group: II Objective (3> w2/ L s 20 : =5
Marks: 15 G,UT..G 2.2 Code:7ise 15: /0
A EiZ sy = o s é{.u‘ilrcf. ' P Qrdm _;,fé{..: DsCeBr A=liz j;k Llvg s

e s s | .;ﬁ&w;fé_fjfél’j,i_f‘éfum: HLJ:.'.-...Q -&Jﬁ&g&k A\ fl.?b,.ﬂl""

1-* 1- A fraction in which the degree of numerator is greater = JE«)’- dﬂ;ﬂﬁ’;ﬁ; S 1A
or equal to the degree of denominator is called - di o Aok
an improper fraction /_zi4 (B) an equation =his (A)
an identty £l (D) a proper fraction /L2l (C)
2- If number of elements in a set A is 3 and in In2 2 Ber w3 S St Acs Sl 2
set Bis 2. Then number of binary relations in AxB is -l Sy JE Z AxB
22 (D) 2 (© 2 (@ 2 @
S 2 20°= .3
3600' (D) 1200" (c) 630 (B) 360" (A)
4- Aline which has only one point in common with a circle is called  _ &7 S35 LA L ¥ w4
cosine of acircle  cosine ¥’ (B) sine of acircle  sine ¥/ (A)
secantofacircle  secant ¥ jly (D) tangent of acircle  tangent ¥’ (C)
5- Aline Intersecting a circle is called ..,-..ru( B -5
sector £ (D) chord 75 (C) secant Fis (B)  tangent Ui (A)
8- The number of terms in a standard - f u;f:;,{;\aihbx +c=0 ehbs il fun -6
quadratic equation ax?+bx+c=0 is 0 &..\;‘.\ {-:73-",/.
4 (D) 3 RO 2 (B) 1 (A)
- I & 2 1
) o — e i M
7-1f Y 3  then J\\’/’ 7y o:x3 A7
__L'::"\"" ) g 1 2 _k
v =kx® (@ PR e e =3 ® =3 @
8- The nature of roots of equation axz-’.‘ix§r+ c=0 b Ve U A L ax? + bx+e=0 bl 8
is deterntined by QM
product of roots w4 e v (B) sum of roots 2K (A)
discriminant .0/ (D) synthetic division ("‘"ut-f- (C)
8- The length of a chord and radial segment of a circle are ~Utee ORI S Ul 35 2 2 o1 9
congruerit, the central angle made by the chord will be K ST E 3
75" (D) 80" (©) 45" (B) 30° (A)
10- Inaratio x:y, y is called _ --rtw/yptx:y_-.r'..m
proportion £ (D)  consequent u$m (C)  antecedent [ (B) relation ¥ (A)
11- The different number of ways to describe a set are el SURBP L L S far 11
4 (D) 3 (C) 2 (B) 1 (A
12- if @, arethe roots of equation 7x2-x+4=0 u:ué: TXP-x+420 bl B,a Ji2
then aff is etz af Fun
-4 T 4 -1
7 (D) 3 (&) 7 (. ) 7 (A)
13- A frequency polygon is a many sided e ik § s 13
triangle &4 (D) square &/ (C) rectangle J?"" (B) closed figure (A)
14- A complete circle is divided into 4t U e 14
360° (D) 270° () 180" (B) 90° (A)
15- The meagure which determines the middiemost observation -.g.rlk( Pt J Ir s 15 )

in a dataiset is called f
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Marks: 60 ﬁUJ'-az-llm dei 60: %

-8 8) 1A it S ety (3) e (e udp:_»+d:u ¥ PORROY

2- Write short answaers to any SIX questions:

SectionI Jilio

(2x6=12)

Efsirflatr@) g 2

i- Define exponential equation. -é:.é' ,; L!v' oAl GV ef |
ji- Sofve:  x2+2x-2=0 S Re2x-2=0 i
iii- Write in standard form:  (x + 7)(x - 3) = -7 L PO x+TNx-3)=T i
= + - ,‘-—- — -"‘—- . N
V- Find @? ifm=-—l—-—3 -"-’.E-'p‘"mz?n m=—£—3ﬁ -
2 2
v- Write the quadratic equation having roots -1, -7 Ut =1, =7 ij J o ﬁa.l;l..-btu 0wV
vi- Evaluate:  (1-30-302)° e eid (1-30-302)° i
vii- Express 75° 225° as a ratio in its simplest (lowest) form. P T d § 750 225° i
1 | 1
vill- If a“‘—'g‘f‘ and a=3 when b=4. Find a when b=8 -« b=4 & a=3. auc;f Ji v
‘ - \ 2) % b=8 .Pc{f:“’
ix- Find fourth proportionto ~ 4x*, 2x3, 18x5 SZEe B K axt 263 18 i
3 Write short answers to any SIX questions: (2x 6= T}Z}J -i{; ;]&Mﬂﬁwlﬂr{a} {-:.(jf -3
- What is a properfraction? QS ot / 2 -
c ;.;ff}*.\:>\"3
-5 ~7 Or "
ii- Resolve — into partial fractions. ¢ ) -idf” LU 6z 2 i
T OX%42x~3 GO X7+2x-3
li- Define intersection of two sets. ¢ N S e Lytes i
iv- If L={a, b, ¢} ahd M={d, e, f{g]t ten find £ LxMix M={d,ef g} »L={abc/ _iv
two binary relations in L x M o -ﬁryl"‘ Wy Jb?n
v-If X={1,4,79} and Y={2, 4, 5, 9}, then In Y={2,4,50 » X={1,4,7,9 ) v
find XNY ek XN Y
VHIf X=¢, y=7", then find XN Y e XNY In vzt X=¢ S i
vii- Define class mark. _é'...y/’ J W @z _vii
viii- Find arithmetic mean by direct method for the P bl JUo ol S b ey P hbl i
following set of daa: 200, 225, 350, 375, 270, 320, 290
200, 225,350, 375, 270, 320, 290
ix- Define geometric mean. ..i‘...d/’ J bl o:uﬁ «IX
4- Write short answens to any SIX questions: (2x6=12) -2{5 (iwb!x/"za-lﬂr{ﬁ) { Ldf -4
- Define inverse variation. YN

ii- Find a third proportional to 28 and 4
iii- Express -150° into radians.

-ié.‘r)wu,v‘b L2 28 4

o
=i

gt £ 150° i

V- Find r ,when ¢ =4cm, 9=% radians.

(Zl‘!. U'.u)

{=4cm, 9=i- radians,.?.é,‘é‘r}" roo-iv

G



8-

v- In a circle of radius 10 m, find he distance travelied by a
point moving on this circle if the point makes 3.5 revolution.

(3.5 revolution = 71 )
vi- Convert ?8—“ into degrees.

vii- Defing radian measure of an angle.
viii- In a AABC , calculate m BC when:

® EUT-Gh

(S L& S0 35, Ll

=V
(Tm= % 35) $¢.% 10Ul ¥ ib B
in :
Epeshs T
b S i il
52 mBC Ut AABC -vii
mAB=Scm, mAC=4cm, mZA=60" |
-é(:""u-‘ Uy 4ls 1 fufuﬁnﬂwf -Ix

ix- Divide an arc of any length into two equal parts.

< @) I AUt S ety ) F e e o w2
(A Lszen £8LJws) Sectionll fp 2

X—a Xx+a 7 X—a X+a 7
(8) Solve the equation: S i = B S v g = = =l () <8
(b) Find the value of h using synthetic division if '3' 3 s Sl {é}rﬁ’cﬁf dhedwtl ﬁ-‘v &f; (<)
is the zero of polynomial: (¥ ¥ S
2x% - 31x? + 9 LR 2+3 - 3he2 + 9
1 @ s 1
(a) mx? and m=2 when n=4 find m ) _*fj\--.-' ;;:;---' ?;*':r:*"' mix n=4 Lm=2,m oc--i- () -6
n D> n
when n=6 and n when m =432 (\,\J - m=432 o2 .ér'”” nsl n=6 o2
P
(b) Resolve 6x° +5x7 -7 into p_aﬁél,ﬁéians. _ébk"& W $z2d 6x° +5%°-1 (&)
3x% - 2x~1 RO 3x2-2x-1
(@ If U={1.23 456,789, 10}, ‘U={1,2,3,4,5,6,7,8,0,10) J () -7
A={1,357 9} and s A={1,3,57, 9}
B={2 3,5, 7}, then Jn B={23,5,7}
verify (AN B)' = A'u B’ (An B)Y = A'UB é,,-:,_e»
(b) Find the standard deviation 'S' of e s S e ()
9 3,828 938 9 18 9 3,828,928, 09, 18
(@ If tan® = % and sin® < 0 | then find the values 3y 7» sin® <0 _y tan® = -;E S -8
of other trigonometric functions at 6 g ed 4 0§ S JeF
(b) Draw two common tangents to two touching circles -L.E{' 3.5l 25 Ul Lo en 2 S u“ » ()
of radii 2.5¢cm and 3.5 cm. ..a‘::‘-.(ul/..f';-"'u Lyl

The measure of a central angle of a minor arc of a circle is
double that of the angle subtended by the corresponding major arc.

OR

if two arcs of a circle (or of congruent circles) are congruent

then the corresponding chords are equal.

114-221-95,000

L};F o 2L sl Lf/ff Uis f."'..r.'...-uf" g J ) lf( -9
b s &l w Z-r/:.fu' 3 5
§
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Time: 20 Minutes Group: I Code: 7185 /g &2 20 1 =Dy
Marks: 15 Objective f3* 15: O

1-

b Lotz emma St L& Lz g J602 LD AC B Aciz o Ly 1 L5
B 7 i e .'.T-IJ“J:.'_.;‘Q’ Sk L d_l(é fu:fb ki c....ﬁ <& e fL A r(r}h.'ilﬁ'

1- The domain of R={(0, 2), (2,3), (3, 3), (3, 4)} s JR 7% R={02),(23), (33), (3,4) /1 -1 -1

¢ st (Dom) g2
{2.3,4} (D) {0, 2,4} (C) {0.2,3} (B) {0,3,4) (A)

2-inaratio a:b, a iscalled <t a £ aib o 2
proportional —F (D) consequent ﬁdﬂ: (C) antecedent f:&: (B) relation J‘i {A)

3- A complete circle is divided into -l l,f‘f..jf e £ .3
360° (D) 270° (C) 180° (B) 90° (A)

4- A frequency polygon is a many sided % g Ui L?/ Likeul /:ff Kb 4
circle 75 (D) square &/ (C) rectangle *° (B) closed figure & (A)

5- The portion of a circle between two radii n Gen Lurty vl g3 L2 2§ 5 L .5
and an arc is called -« t!.lf
circumference &% (D) chord 73 (C) segment 5 (B) sector A& (A)

6- Aline which has two points in common with a circle is called -2« Un J3 48 » A Lo 60 £ Pois LI -6
cosine of acircle cosine k.7 (B) sine of acircle  sine K71 (A)

secantof acircle  secant ¥/ (D) tangent = #» (C)

1 1

1 1
7- —+— s equalto -eds —+— <7
a B

[
o+ o
—uﬁﬁ (D) '&'E fQ&ng | a p ® i (A)
8- The number of terms in a standard quadratic (,‘C{I’ﬁ f?rf\q/_ P S ud 2 ax+bx+c=0 oiks Yk Gss v B
equation ax?+bx+c=0 is ~\ O
RO
4 (D) P 3. (C) 2 (B) 1 (A)
8- A fraction in which the degre xg}{ﬂ]‘niemtoris less than = u‘/'? Je yd dfi st LS /’ -9
the degree of denominator is called _Q.Jli:{ —_—— &
an improper fration - “_zt:# (B) aproper fraction -2l (A)
anidentty =L{1# (D) anequation =hi~ (C)
10- A pair of chords of a circle subtending two LART w22 e lin ¢f P (5.?} iﬂ.? » <10
congruent central angles is Loun
parallel /17 (D) overlapping -/1> (C) incongruent JU=# (B) congruent Jfi= (A)
11- Roots of the equation 4x2~5x+2=0 are A L ax2-Bx+2=0 ol 11
none of these & (3 = 2! (D) rational 7t (C) imaginary (24 (B) irrational Jt# (A)
12- The third proportional of x2 and y* s b YR xR 12
YZ de 2.2 }'2
o (D) o (C) X"y" (B) " (A)
13- The spread or scatterness of observations in a data set is called e e WAL K =l L i -13
mode & (D) central tendency u{?’-sd}f«- (C) dispersion =1 (B) average L~ (A)
14-1f A B, then A~ B isequalto -ctridi A-B Fx ACB Ji14
B-A (D) ¢ (© B (B) A (A)
15- -I—- cosec 45° = ic{)sec 45° = _15
2 — > S
e i 1 Y
5 © V2 (©) 7 ® 2 @

111-(111)-220-84000
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Marks: 60 Subjective (i 60 /ot
G @) I AUt S 2y 3) Fe e Lo di i s 1 2

Section | dilﬁ'

2- Write short answers to any SiX questions: (2x6=12) -q’{ ;j’aw/*&.-.mr(s; s a.&f ke
i- Write any two methods to solve the quadratic equations. Ay pye Lz‘.f STudagnn -
] ] 1 .
- Write S + o = 3 in standard form. -f‘_ii_,t?(r.»ls)fdzl.v:( i X__E =3 -
iii- Solve 3x2 + 8x + 2 =0 by using quadratic formula. i FSesa Jur,m,t,: 0y 3x%+8x+2=0 i
iv- Find the discriminant of the quadratic equation ::.a_{r:‘*‘ 306 ax?-Tx-2=0 =ils@usn -iv
4x2-7x-2=0
v- Evaluate: (1——@-1-(92}6 -2_'5(:""'-'-»‘.;5 (1~m+0}2}6 -V
vi- Without solving the equation (a + b) x2 -ax+b =0 HEF  @arb)xZ-ax+b=0 =ht~ .vi
find the sum and product of the roots. -2.{(:‘” P e sl K .ﬂu
5 1 v
vik if Wot— and w=2 ,when V=3 in V=3 o w=2 4 WE— i
'”‘ N,
then find W ,,.?i;g,\, g W
viii- Find the value of P, if the ratios 2p + 5 : 3p +4 (A 2p+5:3p+4 N3P Lvii
and 3:4 are equal. ?{{éj‘\” un sz 3:4
ix- Find the third propertional to 28 and 4. ~rl @2 ' ef_'ri”..,.»-t»i,—' ¥ 8,4 -ix
3 Write short answers to any SIX questions: f2x6=12) gL ore) g8 23
: x—11 oy x—11 :
i- Resolve ————— into partial fractions: \ _ i — ]
(x—4)(x+3) PRI £ L end (x-4)(x+3)
li- Separate proper and improper ﬁapppgav st S s S g s =il
kj_ﬂg_-t-l _ 2x+5 Xqi"':?};"’i 2x x2+3ﬂ 2x+5 extel 2%
242 42 B30 TaDE-2 0 xfe2 @) o) G-DE-2)
iii- If Y={2,4,5,9} and X={1, 4, 7, 8}, then sv X={1,47,9 » Y={2,4,5, 9} /'1 ii
find XNnY & XY
iv- Find & and b if (2a+5,3)=(7,b - 4) (2a+5,3)=(7.b-4) N Z ¢ b s a -iv
v- State the De,Morgan's Laws. A I P S v
vi- If A=N and B=W, then find A-B Zp A-B Fx B=W 4 A=N /i i
vii- Define arithmetic mean. .ﬂJf d' Lesl 'JL-? il
viii- Find geometric mean of the observations 2, 4, 8 S o B E 2,48 2l Lvii
ix- Write the formula of mode for grouped data. -£ {f iy € ok g e Lj':,-r -ix
4- Write short answers to any SIX questions: (2x6=12) -i (fuilﬁ,ﬂﬁuufr(ﬁ) g c..Jf -4
i- Express -225° into radian. vl L ;_."u S -228° .
ii- Find £ when § =180°, r=4.9cm 0 =180°, r=49F £LZL 1 -
i- Define projection. il S i
iv- Define diameter of a circle. -5’,'—5 ---.":'/‘T J /‘52—4,}1: —iv
v- Define tangent of a circle. -é...yﬂ Sulcis w

vi- Define circumference of a circle. -I{‘_f ._yf d' Wl i



Gy'—' (0~ CGr—20

vii- Define central angle.

viii- Define inscribed circle.

(2)

ix- If | AB| =3.5cmand | BC| =5 cm are the lengths of

two chords of an arc, then locate the centre of the arc.

PS8y il

ZESws? i
ey BC 1 AB usin Syt _ix
SE P LI Tun 5 35 A

([J_!’ /'.} 4 L7 oL / 8 Ldlr ) Section II el >

(a) Solvethe equation ax?+4x-a=0 by

completing square.
(b) Show that the equation x?+ (mx +c¢)? = a® has

_ﬂd" C’;/ J':-"L.;UJ_— J ax?+4x - a=0 =hls () _5

L % {mx+c}2 = a? ohe Sk (L)

equal roots if ¢ =a% (1 +m?) ﬂr] e a? (1 +m2} f:':.g,n..cff
(@ 1f a:b =c:d (a,b,c,d #0), then é__,p\_, bL—c d (a,b,c,d #0) fi( ) -6
a _a+b ¢ c+d m{i“_ -,” a a+tb ¢ c+d
show that : = : TN\ < : - :
a-b b ¢c—d d o I(_J) a—b b c—d d
3x+7 \ Ix+7
(b) Resolve x into partial fractu:ms.»-\-ﬁﬁ}/v -4 S Lozl — et ()
x2+1)(x+3) 05 x2 4 1)(x+3)
@ If L={x|xeNAx<5} ~B L={x|xeNAx<5} () -7

M={y|lyePay<l0} mekn‘?\a\ife the following

relation from Lto M : {? y <X}

(b) Find the standard deviation 'S’ of the set of numbers:

9,3 8 8 9 8,9, 18
(a) Verify the identity:
[ +cos0O + sin 6
sin 0 1+cosH
(b} Inscribe a circle in an equilateral triangle ABC
with each side of length 5 cm.

Prove that a straight line drawn from the centre of a circle
to bisect a chord is perpendicular to the chord.

OR

=2cosecH

Prove that the measure of a central angle of a minor arc
of a circle is double that of the angle subtended by
the corresponding major arc.

111-220-84000

{Mc L7 M={y|lyePay<10}
R={(x,y)| y <x} :&biuipn
2 b 'S DI Gl KU (L)
9,388 9 8 9 18
&£ o f () -8
I1+cos0 sin 9
sin 0 1+ cosH
Ut 2 E k¥ ABC &l Eilsiifils (L)
- 75 J?Jé“ﬁé
LSS B e Sl Sy 9
w2l g 7i JE T
k
A S sl d}[:v' s 2.:.- n/""‘U';u- b U/fcf-..fl.‘
,c_tr".f 1 el sl .v‘;ﬁy":h’ iy

=2 cosec O
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Time: 20 Minutes , Group: II Code: 7194 .‘.r:f 1 a2 20 1 =y
Marks: 15 &y"/ﬁ" G2-30 onecive i 15: /%

Jb c':.rfj!‘ Sa e R s ié.: <l &J’r’;; { Qfﬁé’.ﬂ' -pj’lfé-: DsACeBe Az A-F.J‘b_ vy oy
K 0% 4l w2l L oS SeX L LS Sy whd ekl <& £ ool JA S o S
1- 1~ The portion of a circle between two radii ..{..I".Ei'-:“,ufuyn.ﬁurlu palJI L2 oK S ki 1 1

and an arc is called
none of these e 2l (D)
2- Tangents drawn at the ends of diameter of a circle
are to each other.
perpendicular i»f (D) collinear &% (C)
3- A cumulative frequency table is also called
data s+ (B)
noneof these e e (D)
4-If AC B then ANB isequalto
none of these (& 2ol (D) ¢ (C)
5- The nature of the roots of equation axz +bx+c=0
is determined by

product of roots .._.,PJ’ bb’.;,"]u (B)
synthetic division <& (D)

6- Through how many non-collinear points, a circle can pass?

none of these e 2yl (D) 3 (C)
7- An equation of the type 3* 4+ 32-X L g = isa/an
reciprocal equation ..-.!:’.-u:" (B)

8- A pair of chords of a circle subtending two

chord 75 (C)

non parallel ($ii## (B)

S 47 ege’“ & ¢

AN
()

inequation =il-# @yl

704

sector /’é (B) segment ¥ (A)
Slx LAETUVELE U EBLn 2

parallel (i (A)
et S A 3
frequency distribution =255 (A)

less than cumulative frequency distribution fﬂf;ﬂﬂrf /‘(’ (C)

-etrse ANB I ACB /i 4
B (B) A (A)

- 2
- Fltlg LU u’lﬁ.»i ax“+bx+c=0 =il -5

sum of roots =7 K% (A)

_ discriminant +50/ (C)
ﬂ?':r_i,n\a ?+E52f&$§f/ig¢jil -6

OLE 1.(A)
432X 4 6=0 bl -7

“ exponential equation < lsledliz i (A)

radical equation =i~ (C)
g,':g':Tu -V.‘:"‘é'_.;- Uriin w;'eﬂ.?d.'f;'ff;'ﬂ -8

.

congruent central angles is L)
A\ C}“\{/ ” .
parallel J/i7 (D) overlapping! Z/7> (C) incongruent Jfi=2 (8) congruent  fl (A)

8-Inaratio x:y, y is called PN

¢ . f\ -
none of these g:»";}:f;;ﬁwl,.{g):}x conseguent dﬂﬁ,,m (C)

10- If number of elements in set Ais 3 andinset B is 2 then
nember of binary relationsin Ax B is
2% (D) 2% ()
11- The discriminantof ax2+bx+c¢c=01s
b2 - 4ac (D)
12- Mean is affected by change in
noneofthese &=L (D)

-b%-4ac (C)

origin BUE (C)

a ¢
13- If —= -d- then componendo property is

b

ih sd 3 &
b d (D) be )

" _ _ X+2

Partial fractions of + l)(xz +2) are of the form
AL By AuB C

x+1 x2.2 @ x2+2 ©

15- %coscus”: e
3;-?1 (D) V2 (©

112-(I1)-220-76000

gt ydxiyad 9
antecedent As (B)  relation * (A)
FA2 LB Lr 3kt AssS 10
-.c:_;:t.ﬁ Py Jh'iuél':‘ﬁ AxB

2 (8) 2 (A)
e/ F a4+ bx+c=0 .11
-b%+4ac (B) b? + 4ac (A)
etk M i S a bl .12
ratio = (8) value =7 (A)
-q..‘:.-r:._..r,-,’/}}x %*% 513
B = .
a-b c~- ®) a+b c+d @)
% X+2
edn S Phaf —————— -14
» KEU ks Lr(:'-£+1)h(x2+2)
A | Bx+C B, B
x+1 x242 & x4 x2yg W
l cosec 450 = 15
2 ——-
1 1
5z ® 22 A
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Section 1 u'j!é

2- Write short answers to any SIX questions: 2x6=12) & .«}..,l.wﬁé...mr(s] 2 2

s [adl o8 s (o) -2 -
" "T2) Ta 2) 4

ii- Define radical equation. Write example. -édﬂ- fe iy Ve ch e -ii

iii- Solve 4—-32x =17x2 by factorization. B SE i 4-3x=17x% i

iv- Find the discriminant of quadratic equation Xx2=3x+3=0 -’efg(:*"’ i\ I € ;{2 —3x+3=0 =ll-Gnn -V

v- Using synthetic division to find the quotient and the Susl et n L SI PR
remainder when (x2+? x—=1)+(x+1) {x2+7x—l)«:-(x+ 1) ﬁg’—‘[‘)”'

: ~14++/=3 =1 V-3 i
Vi Find 0 | if 0 = ey R e PR S -V
vil- Define direct variation. _:-_fi_'...gf J .:.fl;,é'" Vi
viii- Find 'x', if 6:x::3:5 _c’-f'_:rs“‘:.-fd’ 5 Ixn 6:1:::3:5;! - viii
ix- Find the mean proportional to 20x°y® and 5x'y. .-.”frg'-“ 3 b ¥ 5Ty sl 2035 ix

3
3 Write short answers to any SIX questions: 2x6=12) V 2 -Ef 2Felz, .f-..-...ﬂlﬂsj g -3
. X~$5 O -3
I- Resolve ————— into partial fractions. g \ £ J-’u,: r’(ds g gff e -
x>+ 2x-5 f\i\ ' 2 +2%x-5
x-2 <N \J , x—-2 s
ii- How can we make partial fractions of —————. W gl e =l
P X+2)()L'@ v U:UC?UGL)J(J/J’}J(X+2)(?{+3)
i 1t X = 4,Y =2*,T=0", thenfind YAQEN b YUT InT=0" Y=2F X=¢ /i i
O\ :
v- Find a and b, if (a-4,b-2) = @;}j, (a-4,b-2)=@,1) f&rbusra -iv
v- Define a function <;;-:)v N v
vi- If A={1,2, 3}, B={2, 5), then find BxA. EBxAIB={2,5.A=(1,2,3}] i
vii- Find the arithmetic mean for the following frequency a:".".r'-“* faes! du .4! f" S J ilvr Wi
distribution:
No. of Heads X 1 2 3 4 5 | X Heads
Frequency 3 8 5 3 1 el
viii- Write down the formulae of Median and Mode for grouped data. ﬂ%},ﬁ.mﬁ Loslessl 2oy zﬁ_f:'l:‘ ;_F:/" -vii
ix- For the following data, find the harmonic mean: e ol TR D S5 i
X 12 5 8 4
4- Write short answers to any SIX questions: (2x8=12) -i ;f .-..uzf"r...z.mr(e) 4 a..df -
i- Define an angle. LA
ii- Prove that: tan® @ + tan” 0 = tan> 0. sec” 0 tan® 0+ tan® 0 = tan? 0. sec? @ JE=ct -
iii- Define zero dimension. P ey i
v- Define arc of a circle. FEufluiden v
v- Define secant. ..gé'._gj'Jy Cfﬁ' -V
vi- Define cherd of a circle. Hafdnle s i
vii- Define cyclic quadrilateral. BB i
vili- Define escribed circle. Ay gl i
ix- if | AB|=3cm and | BC|=4cm are the lengths of Wl BC 4 AB Wi wlgidh

two chords of an arc then locate the centre of the arc. L Fun 43
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@)
(uj’/.} 4 L7 g JJ‘/'.} 8 LJIV;.-) Sectionll ( o

I
(@ Solve: x§+54:15x% ESS x3+54—15x3 () -5
(b) Solve by using synthetic division, if 3 is the root of 3 J.s S S d":'.-'.u. ()
the equation 2x3_3x?_11x+6=0 i€ 2%0 =32~ 1+ 6=0 wi
@ i WDC; and w=5 when z=7, find w $7Z2=7 2 w=5 4l WW;“ Ji(in) -6
when z=-!? rzﬁl_?-s- £ ey
(b) Resolve X Zx+ L into partial fractions. { W ,,/d,z,’ —’{j;—ﬂ ()
(x+2)*(x+3) oS, (x+2)"(x+3)
(@ If L={x{xeNax<5} 3)\ L={x|xeNAax<5} A -7
M={y|yePay<10}  then make the following "*ﬁ\u i s ¥n M={y|yePay<10}
relationfrom L to M: R = {(x, ¥) | x+y =6} :) ={(x,y) |x+y =6} Ebk s Mae L
(b) Find the standard deviation 'S' of the set of numbgg}s‘w RS Ui il (L)
12,6,7,3,15,10,18, 5 \e:\\”/ __12 6,7,3 15,10,18,5
(@) Verify the identity: secl+1 _ 5%} J secO+1 _sec+1 (5 palir (L) -8
sec -1 R secO—1  tan ;
(b) Around the circle of radius 4 mhw a square. b Crat st (4 UKL (L)
Prove that two chords of a circle which are eguidistant U belislee Spaiin Lo iy S et L9
from the centre are congruent. ..L,g:‘_mf !
OR L
Prove that any two angles in the same segment of a : c'fn R 05 b3 (i 12 sl s::.éfféw_k
circle are equal. ~F& sl AL Un

112-220-76000
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-

(h'-"j-;br..’tfl - ‘
L2201 =3y

1S:u‘:|,

J b ...’:..,-IJZ s e Jo i) iﬂ_‘é_:&lrcf_Jlr,«f 4 QE/L}IJ’: -L{!.&.(.FTJD »C B . A :.l,l:!;ﬁxi: f.dlr';.' 2 b

Byt -l i 'V -.T-JJ"JLI.{, Soy LL;}I, fu:.?b whia L1 2

la

1 - An equation which remains unchanged when x is replaced = d L
1. ;
by - iscalleda/an equation,
X
linear (£, " (D) radical ({,i (C)

2 - Product of cube roots of unity is.
3(D) -1(C)
3-1f «, aretheroots of x2 — x —| = () , then

the product of the roots 2¢ and 2f3 is

-4 (D) 4(C)
1 - The third proportional of x2 and y2 is
2 4 {\ﬂ
Y b N\
~— (D) —. (@)
x* X t@/\/
~\ O s /
u v N /
5 If —=—=k then FQ\" /
v W ) "3“"' /
A
u=vik O Y yawik ©
Partial fractions of X 41 /
G ial fractions of ————— /
' (x+1)x~=1) /
are of form,
B, L@ 12 ASpay
x+1 x-1 x+1/ x-1
7-1f Ac B then A —B is equalto
B-A(® A(C)

8 - If number of elements in a setAis 3 and in setB is 2,

then number of binary relations in Ax B is.
22 (D) 28 ()
9 - Sum of the deviations of the variable X from its mean

is always equal to.

two 5 (D) same L« i (C)

s A bl LS i 3
‘JJ%.,;JIU:U‘?;A’LJIJ-I -1

= U‘:(..:a-'sl.-*______,..g ‘N2 J_’Jf

reciprocal / 5% (B) exponential (i =7 (A)

. A S ¥ Pl 0 -2
/+ 1(B)

0(A)

Sunun L xz--x—1=0 =hisB,a Ji-3

/- rﬂf@T— s’ J‘b 5’2[3 s 20
@\ 2(B) —2(A)
AR e) B
fé@j}; - b U’}‘a sl x2 -4
°
2.2 }'2
X°y® (B) = (A
X
;”—E:i=k /r] '5
v w
u=vk? (B u=wk? A&
2
X°+1
I . S-S
() o 7 J(x+lXx—l)
st ind
Qrat fBx+C (g, R By
x+1 x—1 x+1 x-1

etrasl ______A-BJinAcB Ji-7

B(B) ¢ (A
 In2 LB a3l Sk LA Si-8
P ad i € £ AxB
26 (B) 23 (A)
A b YL ¥ X 2 -9
= by by £ 24
one (i (B) zero j# (A)



- 20"=_______ 20°0= ________-10
3600" (B 1200" (© 630’ B 360" (A
11~ cosec~0 = cot-0 = mm———r cosec?0 — cot?0 = “11
tanf (D) 0(C) -1(B) 1(A)
~
12 - Locus of a point in a plane equidistant from a U £ Lo 45;{@;;@ L-j."'z L K LG rﬁﬁ Sy - 12
fixed point is called. _ ~N\C - t“lk(
A < _;\; \
diameter 5 (D) circumference Ls (C) @;\3) circle 421, (B) radius 1, (A)
N
153 - Atangent line intersects the circle at NS = 71 > L1 =13
; gent i ’Q.‘\.@J < L¥ S b gV b L
two points %ﬁ B) three points , 45 £ (A)
no point at all ¢ (D) single point ;55 {f (C)
=y
11 The semi-circumference and the diameter of a circle < bn AT K ar s Lo sy - 14
both subtend a central angle of
180° (D) 270° (©) 360° (B) 90° (A)
15 - common tangents can be drawn for TS L end S s-15
two touching circles. -uE b b
3(D) 4(C) 5(B) 2 (A

113-(1)-219-80000



Mathematics (Science Group) Faper: il ((?JJD’ Al &l $o42) 219 I 24 (u‘d}rp;:'f)

" 2:10 Hours (Group: I) Subjective (i1 (..r:fug) 910 &
nMats: 60 60: U4
-..;_d}utg}if.".,}lr(?r L@ L (0.2 e $ Jit o <
Section] JiL2
2 - Write short answers to any SIX questions: (2x6=12) -i-ﬁfvl-b’ f"’[. =y (6) § < J:( 2
i - Define radical equation and give one example. & Je L f -y J ol Yo =1
- Solve x?+2x-2=0 S xP+2x-2=0 -ii
i3 - Find the discriminant of the equation x —Sx +5=0 _é r-,lv i O ¥ x2=5x+5=0 ol -ii
iv - Evaluate (1 -w-w°) _g.f_'r,lv;,EJ (1-0-0? L
v-If @, are the roots of the equation 2x2 +3x + 4 =0 uj,,, L2x2+3x+4=0 cbl-®B i -v
then find the value of 0.+ [} and 0f. L Sap Ly o+PB Jux
vi - Define simultaneous equations. @Q\‘"”‘\ -2,{ —E/;’-JU;’JP A -V
vi1 - Define inverse variation. i Qg::} C s _{J/;.'Jwﬁaj - vii
S R W !. A=2whenr=3, NL@%}v e 123 2A=2, Acc—tz-ff - viii
r AN r
then find r when A= 72. _ QQ;’(QQ’/ — .xA=T72_¢ :;-'-f_r;'*’ ry
1x - Find a mean proportional between 20 3(& k< & B Qb ¥ 45 51 20 -ix
3 = Write short answers to any $@\lc&tmm (2x6=12) ..é/f.....tl:" /""L =Uly (8) £ = J:( 3
1 - Resolve ﬁ:\%)‘ into partial fractions. =L 'J:L?u: PAT et . :Txxg_ 3) -i
it - Find (B~ A) and (A- B) when £ & (# (A-B) 4 (B-A) "B
A={12345 . B={24568) A= {1,2,3.4.5) . B={24568)
iii - Find Ax Bwhen: A={12.3},B={25} A={123},B={25 & 'ggr,h" AxB -ii
iv - Find A when U={1,23,....,10}, A= {2.3,5,7} U={123....10, A= {2357} .6 &5 o A° -iv
v - Find domain and range of R: R = {(b,a),(c,a),(d,a)} R ={(b,a),(c,a).(d,a)} i rrb"" &l 203 SR -v
vi - Find arithmetic mean for the data: .z r":h’ bt Q2 Koty - Vi
200, 225, 350, 375, 270, 320, 290 200, 225, 350, 375, 270, 320, 290
vii - Define Harmonic Mean. ' . -c'fl"': ..e}Jw _g‘:';r: - vii
viii - Define Variance. ; _;5 _,ng.;{,e'" = viii
ix - The salaries of five teachers are as follows, find its _é r,lr;_y g L).‘_j o w],‘.%"lf,;;w é’k -1X

range.11500, 12400, 15000, 14500, 14800 11500, 12400, 15000, 14500, 14800



G-

=1

(J -

[ - Write short answers to any SIX questions:

i
1 - Convert - - into degrees.

8

n-Find ), when: /=45m andr=25m

1 - Define Right angle.

v - Define Circular area of circle.
v - Define the lenght of a tangent.
vi - Define segment of a circle.

vii - Define Circum-angle

vin - Define are

v - Detine regular Pelygon

2.
(2x6=12) & fouz FL iy (6) g o . 74
Edreehi T

r=28 . £=45 22 . gl o0 -i

E P S A -

ZEafEal e ~iv

i duv -y

S v

E P el i

S U i

S b FH i

(w/*l ﬁ:i; »l /8 Ldfr'f) Section IIfr.u -~

(a) Solve the cquation: 2x +5=/7X + 6

(b) Solve the simultaneous equations:

X+y=5 : x?-2y-14=0

{a) Using Componendo-dividendo theorem,

(\'+3 (x- 5) QC

solve the equalion

(x+ 3) (x- Sl
o O

(b} Resolve ,—] into Partial ion.
_\'. —

- {a) fU={1234...,10}, A={1.3.579).
and B = {1,4,7,10), then verify B—- A =B A’

(b) Calculate Variance for the data:
10,8,9,7.5.12,8,6,8, 2

| + cost sin0

- (a) Provethat: — + = 2cosecd

sin0 | + cos

(b) Draw Iwo perpendicular tangents to a circle
of radius 3cm.
Prove that the Perpendicular from the centre of a
circle on a chord bisect it.
OR
Prove that any two angles in the same segment of

a circle are equal.

-5"\?)@‘2}{4-5 VIX+6 oihsls () -5
(O

~\ O ZE sz ()
N 2

@’\3) TX+y=5 ¢ x2-2y-14=0

G n &S J»“, 7 e () -6

(5+3)2 x 5 _i
E S (raPalasf 5 =

U=(%234,.,10},A={1,3579 Ji() -7
B-A=BAA":z =& JxB={14710) s
:z;frjl";f,fs’:!rzf s (&)
10,8,9,7,5,12,8,6,8,2

1 + cos@ sinf
+

= 2cosech ;= o J) - 8
sinf 1+ cos@ I‘{ = ()

-u_'f"{JV{jufné e dly Sl (3 (1._.-')
-.?_L'/(_i:':'"(,(uﬂ w7 U/r.'.. /;‘c’: Py E:.:.:E‘ -9

b
sz r‘Tl. W éls o afh.’ﬁlﬁ J-:U! g__;ljfﬁl.:,:f'

Y. P
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Mathematics (Science Group) Paper: 11 (r“hu’(f Il 2l dﬁd}ﬁ_‘:’)ﬂﬁ -(ID 11 24 (lerpr.:lf) L
Time: 20 Minutes (Group: I1) Objective Lf'i/" (q.;-.vrl/):) L2220 1 =
Marks: 15 Code: 7196 15: S

O A U} R RS- 1) a’..g_.a e Lrsy Q¥ iz -u:rif__:D #MC B Azl Ly oy
= v "

Pon ol iy i (o - f’: ¢ ” . _ @
=X ¥ b iR ra D oo ...;A; f-.'..vﬁ L d..,fa; fu:/b uL}:..fu{i_ﬁJ/f:..ij fdl-fa;'bﬂ-;"

I- 1~ The number of elements in the power set of {1,2,3} is: - FIey Jd{,: L. oY Z{123)-1 .1
9(D) 8(C) 6(B) 4 (A)
<~ Inaproportiona:b:c:d, "a' and "d" "d" a" L {:b:c:d -t -2
are called g W
extreme .2 b (B) mean 2} (A)
fourth proportional — iz (D) third proportional 31, (C)
4+ Locus of a pointin a plane equidistant from a Ust g bl g1y = J:"';r 2 ¥ b ra[_ g -3
fixed paint 1s called - t‘ﬂf(
circumference s (D) diameter & (C) radius % s (B) circle 71, (A)
ey 55% B
X2 {, (x— ]XI +2)
proper fraction ./ =213 (B) %g{?f Jf improper fraction _,/ 2l / (A)
equaticn _-.?‘/\E}; 'J identity {1’ (C)
H - Aline intersecting a circle is called. QD@ rJr s g b3 st t’fd"fd_}u 2
boundary - (D) ; { ! Std” 3 (C) secant & 4 (B) tangent iz (A)
G- The disatnce between the cent St o congruent  _lej b’??f& Usrs Uals iy L.)’u).; 2 G;,_v:. Tl
louching circles externally is: i \ -r.;_t‘.rr sz L
the radius of each circle i ¥ i ( E) the diameter of each cirlce A ¥ 21 (A)
twice the diameter of each circle ¢/, ¢ 5.2 _Ji, (D) of zero length Jx_,J #(C)
7 - The discniminant of the equation ;;m2 +bx+c=01is" _c b u.'-'fJ) ¥ ax2 +bx+c=0 onle -7
Jb° - 4ac (D) Ju2 PRIeES b’ +4ac (B) b? — dac (A)
8- Thefactors of x- — 15X + 56 are: - .___.J/'-.G'J: x2 —15x +56 -8
(x+7Xx+8) () (x-7Yx-8) ey (x+7)x-8)@) (x-7)x+8)A)
Y - The semi circumference and the diameter of a circle e ] 15){;' Khead Ll o -9
both subtend a central angle of. _ - b
360° (D) 270° (C) 180° (B) 90° (A)
10 - The terminal side of angle 235° liesin ______quadrant. ~ bt o Gt G ¥235° - 10
v (n) 11 (C) 11 (B) 1 (N)
11 - Two square roots of unty are. il B £ JK‘ >
hi? (D) 1,-o (C) l,w (B) =1 (A)



12 - Inthe proportion 7 : 4 :: P : 8 the value of P is:

14 (D) 8 (C)
113 - If the number of elements in SetAis 3 and in
Set B is 4 then the number of elements inA X B is.
12 (D) 7(C)
1g- SecCot@=
S <= (©

1% - The mean is affected by change in.

scale ¥, 25 (0) ratio = (C)

PHECELD 210 Timhiny

L]

S PP LT 4:P:8 £ -12
7(B) 4 (A)
Fnd LBy 355 § i LA 2r S 213

s At i § ok SAXB
4(B) 3(A)
Secl Coth = -14
1 :
e W Sind (A)
et i f e LSS bt - 15
va Q} (B) place £ (A)



Mathematics (Science Group) Paper: II (ﬁw Il ol Uar£) 219 II 24 Ju“"b) ﬂx
Time: 2:10 Hours (Group: IT) Subjective (i (e2/i2) &2:10:

Marks: 60 60 : /L
- UiO Ay it S et (3) f e 2 (02 e il Jil ot o
Section I J31.%>
Z - Write short answers to any SIX questions: (2x6=12) _.‘-’_{4/...,“,?/5& = Uiy (6) § & Jf-
i - Solve the equation. 2, 2x_2-¢ S x4 2x-220 @bl -i

11 - Define Reciprocal Equation. E i ehle S -

i - Evaluate: (- g-°)’ _C{F-,lv,__,; J (1-0-02 7 - 1ii

W If @[3 are the roots of the equation 4 2 —Sx+6=0 Unu s £ 4x2 —Sx+6=0 ebl-®WB J -iv

then find the value of u:]%: .

v - Using Synthetic division, show that {\ - 2) is the factor of

drz(x-2) s

ZEpred opls
rf e o Jr‘-jd‘{;

-V
NTFEXT=Tx+2 Fx*+2% <42
f—"'\ :
vi - Define Symmetric function, <‘?r\%\ _MJ;JJ‘Q J/y: -vi
vii - Find the cost of 8Kg of mangoes, if the cost of 5Kg of M\ ;5)" 3, 250 =3 § UpT r.},b’ 51 -vii
@
mangoes. is Rs 250 - 1@\ e r,%rc__{ Jur' r;_)',(
neMy s v-7 and x -3 then find* v mtermso}{i{yﬁ Fie X=3 a¥=T VX i
()
N -
‘”\% - e xed §y
ix - Define Proportion £ e ._ér/:d’.,r.,-{;? - ix
A@‘J
4 o o
3 - Write short answers to any é}f/questmna (2x6=12) _é{ al_.l.v‘.'/*'é =iy (6) £ J/ -3

i - Define Improper fraction.

n-1fU=(1.2,3.4,..10}. A=(1,3,5,7,9} and B=(1,4,7,10)

then find (A - [3Y

i1 = Define Function.

w - Find'a'and 'b'if (2a+35,3)= (7, b- 4}

v - If set M has 5 elements then find the number of
binary relations in M.

vi - Define Harmonic mean.

vii - Define Range.

Find anthmatic mean by direct method:
12, 14,17, 20, 24, 29, 35, 45

Vi -

1x - For the following data, find the Harmonic mean.

X 12 5 8 4

7 .

»lU=(1234,.

A S g
W10, A={13579 S -ii
~EZa 2 (A-B) 7B = {14,7,10}

2l S

- 1

(20+53)=(7.b-4) . = oL e o d (D e -
51 § biss BE U2 MF st il (5) ég M -v
&
b BT A -vi
2N ] SO
_:5__5' (2 st Qo Kot s o o 3 B P bty - viii
12, 14, 17, 20, 24, 29, 35, 45
B bt BTAL Lol f5 s -ix

X 12 5 8 4




Time: 20 Minutes Group: 1 Coda: 7195 e & 20 ol
Marks: 15 Qbjective i~ 18:

Mathematics (Sclence Group)  Paper: Il (A - IT & (LE) 21841 0 g¢ (-'ufl-l"h@‘
'}.’
G Lt ans o L ol i@:&kﬁ&;;gﬁt@:,gi{_,u,gc.q{ Al sl re -

e B R ds R ot SLT Sk VLT i prrop el 2 A Bl A S
- - Thararge of R={{1, 202 20,03, 114, 41} is —-d Ranga R 7 R = {(} 3,2, 20,03, 108, 45 /1 -1 _1
{1.3.4} (O) (t.2,3.4} (C} 3.2, 4} (B) {1.2,4)} &
2- The thed proporfonal of 32 and ¥ & e LWy %2 3
2 4 2
f; o) {T ic) x%y? %}' )
immﬂhﬂmmwlmmh ; JHJJ‘J*EJL};,LJH.F i
I T X 4
4 (1] 3 ({] 7 (8) 3 (A
4- An arc subtends a certal angle of 40°. Sien the FIIPES e 80° ST Lk
comasponding chord will subtend & central angle of b ST
80" @) 80" () )" @) 20" (A

i
5 An equaticn which remains unchanged when x i replaceg . i..faw; £lx 8P ata -5

|
hl; s cafled afan
reciprocal squation ok (B)
quadratic equation o lhsle o (D)
& The portion of 3 circle between two radi and an arc [s caled

pepesdcular o' (D) cherd 33 %@
T-Nnmh:thﬂuhmty

@\ _II‘.{_ .;j{.l{n}f.-} L!J;i-"—-

fponeciisd equation =ii-Jusd (a)
racical equation =sl-0.5 ()

- ?ﬂ&wlyuﬁu‘;.ﬁj_ﬁfbfﬁ-g =
nt o (B) seckor }f}tffm LAY

2l #ﬁ.fﬂf&ﬁ -

® (D) @ ) A (B) < (A}
g x=2 \ o x-2 r
wmd_(l—lﬁ;+2‘} are . it {_____x—I)(x+2)
Ax+B C { Bx+C 53 B
x=1 +::+2 © i ( £+2 ) --I+;—3 =) x—l+m
B I b2 - 45 < 0, then the rots it e s bxec=0ohiIn bl —dac <0 B

of n’*h&anc. am
eal F ) magnay £ (&)
13- Poist (=1, 4) bes in e quadrant
v (o) 1 - (5}
- o?+p’ sequale

ratiocal Pt (B) maticral Frt (A}
b AL 1.4 5 10

LI - L (A)
iz gt 4 B2 11

R, A
B o (+p’-208 © IteE @ al-p i
li-ll:b-::r.mmmu +.=-:-’Jr?na:h=;;y ﬁ.12
by ath _x+y 8 _ X ab
s 3z ¥ b ¥ © a-b x=-y (B) X ¥ A

mealled o JWs o LT srubie oo 2 1
(€} median gér (B)  mode we (A)
fls A "'-Wiggmfﬁﬁ.ﬁf_;:, 14

13- The most frequent occurrng cbaervation in the data a3y
artnretc mean il (D) hamonic mean
14- Tangents crawn at the ands of ciameter of a

crie 8 %o each other
papendicular = (D) colinear &4 () nonparaiel Ja&d (@) parsdlel Ji# (A)
15 ﬂﬁza = _ mzﬂ' = _1K
I-tzn?@ 0 1+cos* § (C) l+tan’ 9 (B) 1-sin? 0 A
11341I1-218-TTODD e ™ PR -



Mathematics (Sclence Group)  Paper: 1T (Anf (ML 2uf S2E) 218 1 4¢ (.,.)ﬁ"i«)

Time: 2:10 Hours Group: 1 .'.-Aflf; & 2:10:
Marks: 80 Subjective @ 60 :
e \Je {9) },ﬂ;phr'(ql? --ﬁd".‘hlﬂr (3 L L dit Jil s <
Section ! Wil
2- Write short answers to any SIX questions: (2x8=12) L Jayr L st 6) {JJ 2
- Define reciprocal equation LSS eyt
i+ Wit In standard fom ;{*;*;}'3=1 wéuf.PJaL-Jm*x—l—i—J_up -l
W CL

jil- Define ‘Synthetic Division’.
V- Write the quadrafic equation having the rools 1442, T ] il B v Bl S 3+w.'ri. 3-y2 -W

v- Evaluate ¢+ @°F +1 e JadT+ 041 ¥
vi- Without selving, find sum and product of the roots of N (arh)x?-ax+b=0 sliedon M
quadratic equation (a + b) x? ~ax +b=0 qﬂ'ph‘.,.-fd'b..usfi'fuim,éﬂ
yii- Define ‘Diract Vaniation' P e il
viil- Find the fourth proportion te 6, 7, 8 B BN BT B il
x- Find 'y 3Jx=2:4u2x+3:7 3{&\9;“4 t2x+3:7 ﬁﬂ’"‘—-ﬂ'd’
3 Writs short answers to any SIX questions: @2x8=12) . (O .ﬁ}j...uu"ﬁ.pnrm {Jf 23
i- Define fraction. ““\ HmarsS
Ix+3 {\4\@\2 $ru.-- s oind Ix+ 3 i

i~ Resolve into partial fractions m (x=1)x+2)

fii- Find sets X and Y if xn-{uay{b,a](u:@ X x Y = {{a,a).(b.a).(c.a)(d.a ZE ok YurX 2x il
- Y = {-2. 1, 2}, then make two binary Yx¥ ek iEnd YaYinyYs(-2,1,24 v

v- Define range of relaticn. Q\f-“:‘, il v
vi- If A={1,2, 3,4, 5, 6)and B@L“a). 8}, then JB={2,4,68) s A=(1274 5,6 /1 -vi
prove that AL/ B = Bu A ALB=BUA JZE o
vil- The salaries of five teachers are as foilows, find the ot ol oo KL st S BY -
mean salaries 11500, 12400, 15000, 14500, 14800 11500, 12400, 15000, 14500, 14800
viil- Define standard deviation. gl I il
ix- For the following data find harmonic mean P el LT e Jifn i
X 12 5 4 4
4. \Write short answers to any SIX questions: (2x6=12) 2 faz AL =0 (8) .;Jf A
|- Define coterminal angle. AR PR 7
ii- Conver lli;' into degree. el ]3“ -
i- Prove that cos® @ - sin® 6 = cos” 8 —sin® cos® B -sin* 8 = cos? 0 -sin® f;ﬂar i
iv- Define zero dimension. Eaflerdr w
v- Define circumeircle. A S v
vi- Define tangent o
vii- Define chord of the circle. Zafinlem i
viii- Define circumangle, Pl ime i
ix- Define vertices. Ealdoy



(aj
(b)

(a)

()

(a)

(B)

(a)
(b)

WIS A era g 08 &V p) Sectionl]l Lo e

Solve: .%xl._lm + a = ¢n....ﬂrm
Solve the simultanecus equations
ax2-5y2 =86
3x2+y2=14
I w_u m. = w (a,b,e.d, e, f # 0) then by
using K-method show that

a guu+ ¢+ e
b Vbi+ o2+ @a
7x
i 5 into partial ___.mrﬁ@@_

(3x+2)(x+1)* A
f A={1,2,3,4,56) B=(2 4,6, 8)and Ww@
C ={1, 4, 8}, then prove that
AV(BNC) =(AUB)N(AU()
Find standard deviation 'S' of the set of numbers:
12,6, 7, 3, 15 10, 18, 5

Resolve

oon M I+cos®  sind
i Vicooth — 1ot

Draw o circles with radii 2.5 cm and 3 cm. If their
centres are 6.5 cm apart, then draw two direct
commaon tangents.

Prove ihat A straight line drawn from he rentre of 2 ciicie

to bisect a chord (which is 1ol a diamieter) is perpendicular to the chord.

OR

Prove that the measure of & central znale of a minor arc
of a circle is double than that of the angle subtended by

the corresponding major arc,

113-218-77000

%
>

S x+14+Yx=2 = Jx+6 () 5
ESS Ui A (L)
4x? -5y =6
2+ y2=14
] Cc - »
je —=—==— (a/b,c,de.f =0 S() -6
e a T e
SE ik I 21 Kmethod
L, e e e
Vo« a4 12
7x+4

am&t_p___.rn a5 ﬁwﬂﬂmwﬂ.&u Ko
AB=(2.4.6,8 . A={1.23.458 /() .7
SE=kiC=11,4,8)
AUBAC) sAUB)IN AU
-t A SRV L2 (LD
12, 6.7, 3, 150, 18, 5

w\_..f_no«i..m sin @ Sobap () -2
1-cosB m cos §
hG:..\ \-bh.t.umr.utul Nm...rn...;.;. ()

amm (‘r_.L\\I\rc w765 bog .uw\.h ¥,
- . - - l.... . ’ F
Ulors 22) 75 8 .P-AW\&H;I.MP..L &=k L8
- & - I K
-& by ...Lnn BN I__........-
i
#
A MY e S Sk
ettt e 37 ;whﬂhw\n..‘e.\qu..iwru..n..fﬁ Ao

Du\f\d ~|~(8



Mathematics (Science Group)  Paper 1l (Al Mo L) 284D 1Ty (ol Ty

Time: 20 Minutes Group: I1 Code: 7182 'l“"nﬂ & 200 2

Marks: 15 ! Objective (4~ J.u" 157
B LR aer e B % g{.u':.h— ZJw s { GE3R . 1'.!:":{_: D C';-"B e B ,.F,.k Lz 1

3.

O T e LS Fuk y L g i ) =l 'ié.i Al S i 3

- The aumber of ieama in a standard guadrstic
equation ax’ *bx+c=0 s

ot J urh of ax? gfbx 4 0 =0 wtbn s e 1 e

4 o 3 {© B} i A

2- Cube reots of -1 are o i S 2
-, —@® (D) -l,-a, &t © -l,0,-p2 @ -1,-p,-a® A

}i-éhmm +ml+:§.3
a+p ap I k..
af (D) '“ﬂ (<) o ﬁ 8) = &)

4- Find ‘s’ propodion 4: x5 15 S 2818 4
12 (D) : i g (8 % (&)

5 Inaprooorbon a:bcid '3 and 'S are called AFL e Larbrerd st 5
extremas .44 (B) @ means 2 (A
fourth proportional o-£0z (D) il propontisnal 515 (C)

x*+1 @ 141

B 5 O_{__ i A .
(x=1Ipx+2) (x=1Kx+2)
an impraper fraction a prope fraction - (A)
anidentty <li* (C)

7+ A et with ro element is called et p s L 8e Lo 7
supperset e3P O sing e ) | subset orF (@) emotyset sodi (A

& The number of eements in power s -?Jﬁﬁddﬂ;'iéfn%;‘: {1.2.3) .8

8 (D)
3 Sum of the deviadions of the le X' fraen
3 Mean = JPwas
2 D)
10- The uron of s non-collingar fays which haye
SOmEmen e poant = callog
aradan Zi. (D 3 mimute

11- Pacs of 3 cincle are

codine of 3 cincle  cosne Ko
secantof acicle  secant i Fio |

73« The arcs cpposita 1o incongruent central
Ingies of & orcie arc alweys
perpendhcular o (DY
14~ The aroumfisrsnce of a circio s called
dismeter & [0} toundary
15 The langh ol e damter of s circle s 1y
g radius of the e,
4 (D}
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Mathematics (Science Group)  Paper:I1 (Al « 11 2uf JuiE) 218 :j‘ (2

Tirme: 2:10 Hours Group: 11 [ & 2q0: 5
Marks: 60 Subjective Six 80 : /%
el @AM ES et Bl e L o fi i <
Section T uJil2
2. Write short answers 1o any SIX questions: (2x6=12) 2 feria P latrig) g 2
i Sohve x2 - 11x» 152 by faciorization B end R-1x=182 i
i- Sohve Sx2= 30x by taclorization. 2 ofend =20 i
W Evaluate o +@ -5 il st B
iv- if @, are the roots of the equation 4x -5x + 6= 0. Sl ax2-5xeBe0aiiea B S i
then find the vate of a? B’ Zzdf o B Fus
v+ Wrile the quadratic equation having roots 144, 11 o Gandyse 1+i, 1= v
vi~ Define synthetic division. KPS TE w
vi- Find the value of p # the rabos 2p+5: 3p + 4 and S2peS:dpea B Il
3:4 are agual S B
viii= If J"‘xi and y=4 when x=3 find x when y=24 :?x:!i.,-tyzﬁdﬁ'ti‘;l -Vl
@\ y=24 5 o o
ix+ Find mean proportonal between 20 and 45 @Q =4 .ﬁrﬁ"fﬁ*dh(ﬁd‘m -ix
3 Write shart answers to any SIX questions: 2x8%12) -\ HfepA e gl 3
3x+3 4%&*/ . Ix+3 P
+ Resolve into partial fractions -~ 750 %@ -ﬂﬁﬁnfﬁ;zfm i
ii- Define igentty. o> Haflaly a
il A={0.2 4), B={-1,3) thenfind Az A *B. SAsATRBe 1.3 A=(0.2.4) . @
.-#}'FEIH
iv- Defing intersection of sets. Haflvelor v
v M A={1,2 34 5 and B={ZR5 6 B then «B=(2.4568 ~A={1,2345/ v
find A-B and AB o AUB 2 ANB
vi- Write De-Morgan's laws L LA
wi- Define moving averages Ry O L
vii- Fird geometric mean of the observations 2. 4, 8 by -!&'H'gﬁ;‘nmg{llfrﬁw¢rli.lyi - il
using basx formuia,
ix- The marks of seven students in mathemalic sre 45, B0, 74, 56, 65, 63, 49 S Lol el -
45, B0, 74,58, 65 63, 43 Calculste anthmetc mean i bk o2 i
4 Write short answers to any 51X questions: 2aB=13) .ﬁf;aw&wmq&r A
+ Defing Coterminal Angle’ TS PP O T
13x » 13x. 4
ﬂ-cnmtn-ﬁ— rathan to degree measune. -ﬁgiaﬁdfh "B -
U Prove et Sn0+cos® . o0 M-“ma Sy M
con b cos
lv- Define Fight Angle P e
v- What is major arc of & circle? te Vo y i it v
wi- Define socant s elv
vil- Define segment of a circle, A L N
viii- Define ‘Chord of a Circle’ L ke

Ix- Defne Polygon'. Fai s | 1‘. .u‘.- o i~ -F&’g ‘#‘J’FJ‘L#“!}* -



5.

6-

“..

(A4 Lszpm 78 LJwg) Sectionll (u 2

|
(@) Solve the equation 5x2 uquwlm

(b) Provethat x*+y? = (x+ y)(x+ wy)x+w’y)
(@) Using theorem of componendo-dividendo, find the

v
value of - ik w+x+u~ if x=— it 2]
Xx-2y x-2z y+2'
) Mot~ into partiol fradi
. 5 into
Aux+nxx+3m .

e
gy,
1....\1\1./

(@) W A=(1,23,4,56) B={2 4,6, 8;and
C = {1, 4, B}, then prove that
AN(BUC) = AnB)U(ANC)
{b) The marks of seven students in mathematics are

Y,

! !
S 52 L qyig e (L) 5

ol xhy? = (x4 yIX+ @y)(x+ euwu (o)

X+ Mw. X+27
-2y xo2z LrniSIere S e (I -8
_4yz )
o B mﬂm \_mml_\.fn.&\
Tx+4
smwmutrw_\fn h\.‘.QuN.H mJ...v

(3x4 2)(x+ 3

2 B={2,4,6 8l«A={1,2 3 4,586 /(I .7
JEEe ki C={1,4, 8}
ARN(BLC) = AnB)HANC)
it/ P B Lutite b (L)

\JMV

as follows. Determine variance: e
Students ~_b . 2 3 ). | 5 8 7
Marks /7 45 | 60 74 58} 85 63 49
. : 7 _
1+sin® 1-sin® 1 +5in6°71-sin @
(a) Veri —— = —— =4tan OsecH - — —— =4 tan O sec B . -8
} Verdly tht l-sinf 1+sinB 1-sin® [+sin® Sehzat ()

(b) Inscribe a circle in an equilateral triangle ABC with

each side of length 5 cm.
Prove that, two chords of a circle which are eguidistant from
the centre, are congruent.

OR

Prove that, the measure of a central angle of a minor arc
of a circle, is double that of the angie subtanded by the
corresponding major arc.

. 3

.._\_......u. bar iy #~ ¥ ABC &t L. ()
S5 L
bolElidrle o S 2 a0y Lo s nﬂm.n"..at\ -9
-fidn cnc AL
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